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1. Which of the following statements are 
correct about electromagnetic waves? 
Choose from the options.

(i) They do not need a material 
medium for their propagation

(ii) They need a material medium to 
propagate

(ill) They are called elastic waves 
due to their propagation

(iv) They can travel through vacuum

Options :
(A) (i) and (ii) are correct
(B) (i) and (iv) are correct
(C) (i), (iii) and (iv) are correct
(D) (ii) and (iii) are correct

2. The vaccination DPT stands for

(A) Dengue, Pylaria, Typhoid
(B) Diphtheria, Pertussis, Tetanus

(C) Diphtheria, Polio, Tetanus
(D) Dengue, Polio, Typhoid

1. Lf51(S5T<5ITI5̂ 6̂5)Q)<565)6rTU UfbfftlU
LSl6ffrsu0 ii) 5fl.fbp«ffi(€r56rr ffifliurresTgi ot ĵ? 
6)Sl0 LJLI;5 ĜITClj«<Slfl€6l0 (5§l
ĜITJBQa5(3\<S<564 LD.
(i) îdieuo)eo<5GTT uijeqQj f̂b@

Qurr0 Sfr aari_<5LD G<£<sw<suuui_nr§]
(ii) d̂j®_ICT)£D<ffi<oTT UIJ6L|SU65(I)0

Qunr0 <sn- asri_<5Lb
(iii) d̂i€iieiDQ)«<oTT uij€i|<su<S6OTmob ^£<5

(̂SiDcoaGn- uSl_<#1 ^oxsoaerr CTarp
®̂DLp<5ffiUU@l£»

(iv) ŝh<s5)su Q<5UfT)r51i_^sijT ©jyS)turns#

6lSl0 LJÛ  (S<£IT6L|S<siT I
(A) (i) Lorbpii) (ii) ffifliurT65T§]
(B) (i) iDfbpih (iv) ffifliurrarrgj
(C) (i), (iii) LDtTipib (iv) ffifliumsffrgi
(D) (ii) iDfbpih (iii) a=ifl uj rrciyr̂ j

2. DPT OT6OT@JLD £®UL| LD0 (B̂l€ilT <5Tpp 
®Slifl6urr<5<s5Lb.

(A) Qi_r£j0 , €5)u(560iflujrr, €iDL_o0oumLJ©
(B) i£|-u!iif)iurrI QuiT̂ QiSlcfo,

.Ql_L-L_6OT<oTU t
(C) iq.u<§ifliLjrr, GurreSlGiLirT, Qi_ili_65T€fu
(D) Qi_tBj@, Guit€tS1(5uj[t, <s5)i_o°oumij©

3. In the salts mentioned below which of 
the following added to ice to get lower 
temperature than 0°C?
(A) Nacl
(B) NH4 Cl
(C) KOH
(D) All the above

3. 0°C 065)JD<oLirr<SffT Q<oiJUUlfl€5)€D€5)UJU
QujD U65flffiffillU)-lL(l_65T l51<SOT<SU0lb CTf̂
a_uL j

(A) Nacl
(B) NKU Cl
(C) KOH
(D) GuDrbâ -r̂ liu
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4. Which of the following are natural 
polymers? Choose the correct answer 
from the options.

(i) Glyptal

(ii) Silk

(iii) Protein

(iv) Bakellite 

Options :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (i) and (iii) are correct

(D) (iii) and (iv) are correct

4. t5l6OTQJ0£U6OT6Urbrp6Tr CTfTjSj Qfflgy
L̂Ufb€5)<SlLirT€5T UrTSlSllJDIT? l51aTGU0Lb

efil0 UÛ  Ĉ IT64«Gffl(5b
ffifliurrei5T(SJD̂ (S<5iTj5Q<$®<s<£ĜLb
(i) $<olflui_Q)

(ii) uil©

(iii) i_|ijfl3LD

(iv) Cu<5«<S!D<S0ll 

(ofi]0LlÛ Ĝ IT<ô <56iT :

(A) (i) LDipguLb (ii) a=flujrr<55T§j

(B) (ii) LDfbpih (iii) <sFrfl uj rrewr̂ j

(C) (i) LDppLb (iii) aFifluj[T65T§j

(D) (iii) uorbpLD (iv) sifliurreffrgi

5. The chemical formula of Marshals 
acid is

(A) H2S20 7

(B) H2S03

(C) h 2s o 5

(D) H2S20 8

5. LDITITQ̂Q) ^ l61s0̂ 6CT 

0(51113©,

(A) H2S20 7

(B) H2S03

(C) H2S05

(D) H2S20 8

Ggû IuSIluq)

6. Which of the following is/are stable? 6 . l5 l€ifT€U0 0 JO T T Q jrb g ll6iT OT65) 0 J  fglciD6 0 lJJrr€OTClD6U ?

(A) 2He3

(B) 2 He5

(C) 2 He4 .

(D) All are stable

(A) 2He3

(B) 2He5

(C) 2He4

(D ) ^0D(SOT^§|Li) rgla)€0UJIT6ffr€5)6U
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7. What will be the correct angle 
between the hands of a clock at 
8.15 a.m.?
(A) 150°

(B) 157.5°

(C) 160°

(D) 167.5°

7. ffirr65)6D 8.15 LD<Sff5fl<S0, (SlrpSmjjSjiliSOT 
dpilffiCTT 6>nT)<3j<9j (3<5rr<S5ffT̂ (S3)̂ <35 <5ITL_(5\ir)?

(A) 150°

(B) 157.5°

(C) 160° V*
(D) 167.5°

8. If 2 x 2 = 3, 4 x 4 = 10 and 6 x 6 = 21, 
what is 8 x 8 ?
(A) 30

(B) 36

(C) 32

(D) 40

8. 2 x 2  = 3, 4 x 4  = 10,
CTCOTiprrd) 8 x 8 ?
(A) 30

(B) 36

(C) 32

(D) 40

6 x 6 = 2 1

9. The sum of the square of three 
consecutive number is equal to the 
number of days of a year. Find the 
numbers.

(A) 6 ,7 ,8

(B) 8,9,10

(C) 10, 11, 12

(D) 11, 12, 13

9. (LpsOTp Q̂m_iTaF<#liurr63T OT6ror<$erfl6OT 
QjiT<5<5rij<K(oifl6ffr s<i.©<$<ob ^ 0  gli0 l_<s <£)ott 

rsrrL-fficrflcin’ CT6ror65Bfl$6S)fi>flj(<9j5: 5-ldld.

^OjQqJ655T0D05OT<5 lSlU).<5<56̂Lb.
(A) 6 ,7 ,8

(B) 8, 9, 10

(C) 10, 11, 12

(D) 11,12,13

10. Express the speed of 20 metre per 
second in kilometer per hour.
(A) 172 km/hr

(B) 120 km/hr

(C) 12 km/hr

(D) 72 km/hr

10. 20 uS/aSlaJTm*}. GGu&panp «̂1.lS/LD€oofluSl€b

(A) 172 <£).u5)/iD6OTf)

(B) 120 $.Ll5l/L£65Bfl '

(C) 12 <®.u51/LD«Rsfl

(D) 72 il.u51/LD(S55fl
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11. The sum of the number and its square 
is 90. Identify the number/s from 
below and select the correct answer 
from the options.
(i) - 9  (ii) -10  .

(iii) 10 (iv) 9

Options :

(A) Option (ii) is correct

(B) Option (iv) is correct

(C) Options (i) and (ii) are correct

(D) Options (ii) and (iv) are correct

11. OT055T«5ofl65T <3fl.©55Q) LDfDpLD
QJITffiffiLD 90. lSl65TGy0lh oS)0UU55
Ĝ iireqffietfleb /
^  <oij Q 6U SWTffiSS) SIT <£QRjr® l5l L̂<5<5SIj LD.
(i) - 9  (ii) -10

(iii) 10 (iv) 9

©S)0LJI_IS3 Ĝ ITOJSGTT :

(A) qS)0 uu<s Ĝ it6̂  (ii) ffiflujrreOTgj

(B) €j?|0 l ju ^  (iv) fflfllLinWgjJ

(C) 6&]0 uu<5 Ĉ iT6q (i) ih
(ii) ffifliurrsBrsj]

(D) ©Sl0 uu^ (ii) ib
(iv) <EF[fllLHT65T§J

12. In the following rational numbers 
which one is the smallest?

(A) 4— 5

(B)

(D)

-13
- 8

(C) f5
- 8
-13

12. i51<sot0J0ld OT«OT<s(cnj6TT ot§j liils;#
< £ )n [ ) lu jg jl?

«  A
(B)

(D)

-13
- 8

- 8
-13

13. The Administrator of a Union 
Territory is appointed under which 
provision of the constitution?

(A) Article 243

(B) Article 232

(C) Article 239

(D) Article 241

13. y,65fliu65T r£)msurr<£l
«̂|CT)LDLJl51<SOT OT©Sl^luSlQIT 

uj uSl-ssu u  ®  n> nriT?

(A) QurrgioSl̂ l 243

(B) QurrgjoS)̂  232

(C) QurrgjoSl̂ l 239

(D) Qurr§|o£)̂ l 241
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The employees who are not included 
in the purview of the Administrative 
Tribunals include the following
category.
(A) Employees of the Supreme 

Court and High courts
(B) Employees of the Secretariat of 

Lok Sabha and Rajya Sabha
(C) Armed forces personnels
(D) All the above category

Identify the statement which is not
true of the Comptroller and Auditor
General (CAG) of India.

(A) CAG is not represented by any 
Ministry

(B) CAG’s expenses are charged 
under the Consolidated Fund of 
India

(C) After a CAG ceases to hold his 
office, he is eligible for further 
office only under Govt, of India

(D) The CAG Audits the accounts 
related to Consolidated Fund of 
India and Public Accounts of 
India in both Central and State 
level

Which test is used to predict dengue
fever?

(A) Dick Test
(B) Widal Test
(C) Tourniquet Test

(D) Elisa Test

7

14. i£lmsun\5!5 l̂iuurriu GuijLDLjâ en- <oLiijn\g>
U053fllLirrClTIT<5(5TT ULinTGlJiT?

(A) SL-fffFjl) LD SOT IT) LD LDJDpLD 2_UJITlf<i§) 
LD€OTjD̂(SffT USecflujrTGrriTffiGTT

(B) Gsorrffi ffurr iDfTjpLb ijrrebiu ffurr
Q<SFUJ€0<5̂ €5T U6wfllUUGTTIT<£6n'

(C) glnrraftniQJu ueocfl uurrGmt<35GTT
(D) GuDri)5fl.r51iiJ otqxsdit

U05CfllLirT€TnT«(€f5Lb

15. gllB̂ llUITQSl6OT <50D<SD0DLD<K 
6̂55fl<5€5)«lUfTGTriT (CAG) Ufr)f£)lU 

<Ka.fT)p«€tf)<sb L5l€5T(SLl0Lb OTIB̂ « Sft.lT)p 
Qldiliujsuso?
(A) CAG OTr5<55 ^ it

l5)lĴ l(gl̂ l̂ §l<aJLJ U(5l̂ UUl_6fi]6b<S5)60 ,
(B) CAG-sot Q<sF(S06ija;(StT jgJlfb̂ liurraSlsOT

<95(sijT<g:rre6]<3i_Li_il rSl̂ luSlsisT L̂p 
Q<sfso®S1 i_u u(5l l̂p§j

(C) 9 0  CAG îg)|QJ60<5 9 UJ611 QurDjD
iSlfD@ <£ip udl_@Gld
uSswr̂ Lb uerofl ^ldij <$0 <£)u_irr0rr<sy[T

(D) CAGiurro) glrŝ luurroSldn- ld̂ I uli

Lorbpub LDrriSlQ) «©frffrrflSl(pL.Lli_L_ 
tgl̂ l LDJDpLD Qurr§J<ffi ««55T<ffi@aeTT 
«̂5cfl«(S5)a5 QfflLJlULJU©̂ lfD§|

16. Qi_r&]@« a-p̂ lQffUJiu
Ga=rra5©D65T uiudnru ($)<£) fD§l?

(A) iq.« G<ef(t̂ 0dctt (Dick Test)

(B) ©DQ_ii_<sb Gffrr̂ D̂OTT (Widal Test)

(C) LrriTesflffiQojil 
(Tourniquet Test)

(D) OToSlffrr (Ehsa Test)
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17. Which of the following metals are 
present in the Bimetallic strip that 
can be used in a thermostat to break 
an electrical circuit?
(A) Iron and Cobalt
(B) Iron and Nickel
(C) Iron and Brass
(D) Iron and Copper

18. What is the name of hot, dry wind in 
Rocky mountains which is also called 
snow eater?
(A) Joehn
(B) Sirocco
(C) Chinook
(D) Purga

19. Which of the following sect is not as a 
result of the division of Buddhism?
(A) Sthavirvadin
(B) Mahasanghika
(C) Aparigraha
(D) Vajrayana

20. Match the Part of the constitution 
with the Subject it deals with and 
select. the correct answer from the 
options.
(i) Part III (a) Union
(ii) Part IV (b) Fundamental

Rights
(iii) Part V (c) Directive

Principles of
State Policy

(iv) Part VI (d) State
Options :
(A) (i) -  b, (ii) -  a, (iii) -  d, (iv) -  c
(B) (i) -  a, (ii) -  c, (iii) -  b, (iv) -  d
(C) (i) -  c, (ii) -  b, (iii) -  a, (iv) -  d
(D) (i) — b, (ii) — c, (iii) — a, (iv) — d

17. 6^0 u5l6OT*rr)<sflrD (jprftass;® at̂ iLi
QsjiKsUDmsiui—niLirjjob uuj6OTUi_<5<9tfi.iij_iu 
€!DuQLDlll_rrs61<5 UL-0Dl_aS1sb <oTfi)Q55f5<5 • 
2_Gconr<5ijb sl.<5ttgit§j?
(A) g)0 L£>!_|, G&ITUmsbLl
(B) @ 0 LDLJ, rgl<B<56b

' (C) iSl̂ a565)OT
CD) @ 0 ii)Lj, <95rnj6)i7ijb

18. ijrr«̂ l LD€5)Q)ffi(Stf)Q) usofl ssrrrbgy
OT6irrips5)Lpa«uu®Lb (Snow eater)

a_€orr Quluit ctottsot?
(A) GggrrQiuOTr (Joehn)
(B) l̂GijrrffiGffirr (Sirocco)
(C) <£l6i5Tg)jr<5 (Chinook)
(D) y/rarr (Purga)

19. lî ljd̂ ^Iott L51rfl<surr«
@Q)6orr̂ §] <5T§i?
(A) <sfû®S)iT(SurTî €5T (Sthavirvadin)
(B) LDQrDrrffr&ĵ larr (Mahasanghika)
(C) ĵ,uifl«i76)iDfr (Aparigraha)

. (D) 6û ijmiJ65T[T (Vajrayana)

20. îj<#1iLieO(Sy)LDLJLju iSlifleî i_<sot
Q̂ m_iTL(a)i_uu Qurr0 ®D6rr ffifliunw 
®Sl<soi_e®)uj Ĝ iTiBQ̂ (Sl«<56ijih

(i) III (a) ŷ u-JOTr
(ii) u@<£l IV (b) )̂l̂ UU<S5)L_

2_(fl65)LD«OT

(iii) U0$1 V (c)
Q d> UGTT65) <5 5> GTT

(iv) u@^l VI (d) LorriflcoLb

©S)0uû (3̂ iT6q<5(srr:
(A) (i) -  b, (ii) -  a, (iii) -  d, ( iv )-c
(B) (i) -  a, (ii) -  c, (iii) -  b, (iv) -  d
(C) (i) - c ,  (ii) -b , (iii) -  a, (iv) -  d
(D) (i) -  b, (ii) -  c, (iii) -  a, (iv) -  d
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21. Match the following and select the 
correct answer from the options given.

(i) D.P. Agarwal
(a) Central Vigilence. 

Commission of India
(ii) ' Shri. Pradeepkumar

(b) Chief Commissioner 
Central Information 

Commission
(iii) Shri. Satyananda Mishra

(c) Chairman, National 
Commission for 
Scheduled Tribes

(iv) Shri. Rameshwar Oraon
(d) Chairman, Union 

Public Service 
Commission

Options :
(A) (i) -  d, (ii) -  b, (iii) -  a, (iv) -  c
(B) (i) -  b, (ii) -  e, (iii) -  a, (iv) -  d
(C) (i) -  d, (ii) -  a, (iii) -  b, (iv) -  c
(D) (i) -  b, (ii) -  c, (iii) -  d, (iv) -  a

22. Which of the following state have 
set up Lok Ayukta an Anticorruption 
Ombudsman Organization? Select the 
correct answer from the options.

(i) Tamil Nadu
(ii) Karnataka
(iii) West Bengal
(iv) Haryana 
Options :
(A) ffl and (ii)
(B) (ii) and (iv)
(C) (iii) and (iv)
(D) (i) and (iii)

21. L5]<SOT6U0<oU<oOTGUfba)£l fflfltLinW 6$0UI_I53
(pa5iTS5)6ua; Qunr0 ŝ Gqijb.
(i) D.P. f̂firhsurrd)

(a) @fS<£liumsfil<sifT uDjS-iliLJ 
C$ĴLJL|65ffriT6L|<S @(Lp

(ii) y f  i51iĵ lj @LDrriT
(b) (ip<5<S5raDLD ĉ j,CT)655riLIIT 

LD<5;£)liJ <95ffi0J<sb @(Lp

(iii) y$ ̂ iurr6ffrrB̂ Lfilcroijnr
(c) ULpr5j@iĵ iiS)65Tiflar 

G<$#)iu<s
<|5OT)€D0J IT

(iv) ijfrGLDcfosuiT ̂ ijrreijr
(d) ŝweoGuit, y,€5fliu6ffr 

uucjflffi aFrr®S(sfu 
au51<Ŝi6OT

©S)0 uu^ (2a5iraj.K6Tr:
(A) (i) -  d, (ii) -  b, (iii) -  a, (iv) -  c
(B) (i) -  b, (ii) -  c, (iii) -  a; (iv) -  d
(C) (i) -  d, (ii) -  a, (iii) — b, ( iv )-c
(D) (i) -  b, (ii) -  c, (iii) -  d, (iv) -  a

22. i5)dsT6ij0ub <oHB£ i£»rrrgl€OLb G©)it<9; ,̂u_|<5̂ rr
OT6ffT6pLD eSELp̂ J<5Q«̂ ll7IT65T
^ L b U L G f O L D O T T  < ^ 65 ) L D U € 5) U

<£>\ LD<5§J <STTCTT§J ? lSldfT6U0lh ©S)0UU£
Cfî lT61J<56lfl6b @ 0 f5§l 5=rflujrT€OT ©S)65)I_65)UJ£ 
ĜnrjBQa5(S\«5«K6ijLb
(i) î£ljpj5rr®.
(ii) <5iiri5m_«Lb
(iii) (3uDfr)0ajrEj<5iTerTLb
(iv) ojDiflujrresrrT

. 6fil0UÛ Ĝ IT6L|<5OT :
(A) (i) mrbpih (ii)
(B) (ii) LDrbpib (iv)
(C) (iii) mrbguub (iv)
(D) (i) LDjDpLb (iii)
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Match the following sites of Indus 
Valley civilization with their findings 
and select the correct answer from the 
options given

(i) Harappa
(a) Water reservoirs

formed here may
have been used to 
store water for
agriculture

(ii) Chalhudaro
(b) Terracotta models of

plough have been
found here

(iii) Cholistan
(c) Almost exclusively

devoted to craft
production

(iv) Dholavira
(d) In the excavation 

made during mid 
1980's ornament 
consisting three shell 
rings, a Jasper bead 
and hundreds of 
microbeads were 
found near the. skull 
of a male

Options :
(A) (i) — d, (ii) -  a, (iii) — b, ( iv ) -c
(B) (i) — b, (ii) - d, (iii) -  a, ( iv )-c
(C) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a
(D) (i) -  b, (ii) -  c, (iii) -  d, (iv) -  a

23. <£lrs§j ffiDQeuGifl gli_<£<sir><$
<̂ajrbn%SOT fficrorgliSlî uLiffiGiSTTiT® 

QurT0̂ 5O-|L£>. l51S5T«SU0LD <o£]0L1LI<<5
uilksotu© ^  ffifliuman-

0SI0DI_65)U_ISj ĜITI5Q̂(5l<5<5<5IJl£>.
(i) ©jDijuurr

(a)
@r&j@GTTerT
j|lT̂ Q̂ITLlli|.<Seifl€b
@ 0 fB§J jlnr
u iusotu u L.60 mb

(ii) 5=rr<sb eyŜ rrCSijrr
(b) Q1 ij<3«55itl_i it LDrri_€0

<5Q)UO)U

<5rT6i53TUU(5\«̂ l(D§J
(iii) G<$rre5]<sro<$rreifr

(c) Qu0 iburr̂ jLb

2_IT)Û «Q<56iST
p̂uurrffi

*3\ ITU coofl U U © <£) fDSj]
(iv) Ĝ nroxaSIp-

(d) 1980 -65T
gl<s5)i_ffi<5nreô «sb
(3̂ rT«rori_uuili_
Qurr(Lp§| L̂p<sbT@j
9®<5S5>Grr 2_65)L_UJ 

Gld rr̂ l ijrnj a5€iT, 9 0  
G^6rOUIT FFlJJLb, 
njrrromia fljciSBTfljSjrrsOT
SiDtDffiGljrT LD655flaS6TT 

LD6ror€5)L_

iS) up5.su UL_L_aj]

©S)0 uu^ (3̂ it6ij«6tt :
(A) (i) -  d, (ii) -  a, (iii) -  b, (iv) -  c
(B) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c
(C) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a
(D) ‘ (i) -  b, (ii) -  c, (iii) -  d, (iv) -  a
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24. Identify the sequence of events given 
below and select the option which 
gives the correct chronology.

(i) Cripps Mission

(ii) WavellPlan

(iii) Quit India Movement

(iv) Cabinet Mission 

Options :

(A) (i), (iii), (ii), (iv)

(B) (i), (ii), (iv), (iii)

(C) (iv), (iii), (ii), (i)

(D) (iii), (i), (ii), (iv)

25. Identify the leader of the Sepoy 
Mutiny who was elected by the 
Mutinous 22llJ Native Infantry as 
their leader and who fought in the 
famous battle of Chinhat in which the 
British forces under Henry Lawrence 
were defeated

(A) Nana Sahib

(B) Kunwar Singh

(C) Shah Mai

(D) Maulvi Ahmadullah Shah

24. <£(pl£ Q<£rr($!<5<£UULJ_ F$<Sl£6L|<S66lfl<sin’
t f i f l u j n r a j r  < $ r r © ) < s u i f l65 ) < ?  ( p 6 S ) f D < S 5) U J <5

««55rL_n51lLICL|Lb. < S f l f l u _ l ' m S 5T  QjffleiDffSiDUJ
L S ]< S5T < a j0 l J b  G & ) 0 U U ; 5  C p S j l T C l J f l j C l f l . Q )  @ 0 J 5 § J

LD.

(i) Îrflucro @(Lp oj0CT)<s 
(Cripps Mission)

(ii) CS€ij<su<sb -$LlL_ib (Wavell Plan)

(iii) QGUGiKswcmjuSar QeuGrflGiugi]
gluj«a5Li) (Quit India
Movement)

(iv) <55ITlSl€5TL_ €U0O)<5
(Cabinet Mission) 

<s$0uû G£iT64<s;<sfT:

(A) (i), (iii), (ii),. (iv)

(B) (i), (ii), (iv), (iii)

(C) (iv), (iii), (ii), (i)

(D) (iii), (i), (ii), (iv)

25.. 22<U61 <565)ijuu<s3)i_<5$ujrr<srTiTa5OTrrQ) 
<5a>€D<suijrr<$ (Ŝ iTi5Qa5(5lffi<5uuil($6iJ0Lb,

. < # l(S 5 T r r i l C T 655T O T ) j L b  i _ | « s ^ s u r T i u r 5 a 5  G u n n f l d ) ,  

Q o j D O T T r f i )  e o m j e i s T G n S l s i n '  <§5L p  

U 05 ) L _ u S l 6 5 r<S5) i j j 5  ( S ^ r r p f f i U )  <5 / 5  Q i 0 i n m s K T  

< £ ) u u r r u j  aeoag,  j s & c w a x s u i f l s f f r  Q u u j i t  

<ormm?

(A) 15 msOTrr u

(B) <505TQJIT <£l(£j

(C) G>̂rr mrrsb

(D) Qiixsrro)efil Q̂/DLDgjebcorr cî rr
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26. The famous bhajan ‘Vaishnava 
Janato’ which became part of 
Gandhiji’s prayer meeting was 
written by

(A) Narasimha Mehta

(B) Kabir Das

(C) Sir Arabindo

(D) Rabindranath Tagore

27. Which of the following does not come 
under Direct Tax?

(A). Income Tax

(B) Capital Gains Tax

(C) Estate Duty

(D) Excise Duty

28. How do you call the total value of 
output (Goods and Services) produced 
and income received in a year by 
domestic residents of a country
including profits earned from capital'i.i'invested abroad?

(A) Gross National Product

(B) Gross Domestic Product

(C) Net National Product

(D) Net Domestic Product

26. «n-J5<§UL)l̂ <S6TT <9«ul©Ljb
GU055T<5<5LDrr<5 UITLUUlLl “siDQJSî SWrSU 
sD6 ffrG!<5 n-” OTorrrD Qurpn) u^dsbtsot

um_<sb lumjmsb ot(lp̂ uul_l_§j?
(A) FBIJ6nSlLblJDfT (SLD̂£5fT

(B) <siSiir̂ nrsro

(C) yf îjiSlrsG r̂r

(D)

27. 6uifluSl65T <£i£ eurjrr̂ gj 
i51(oi5T(5U0Qj0n-sufT)pcrr srgj?

(A) . <SLl0UDfT65T SUlfl

(B) (Lp̂ eb <̂ jj<sjmu euifl

(C) Qffrr̂ g] ^itswsu suifl

(D) sr«65)<SFsru suifl

28. 6^0 rBmli£|.Q) sû luusLHTffisiflsOT, . 6^0
6U0t_<$̂ 5ld) 2_fT)LJ<5<£l Q̂ lUUULJUlll—
Qunr0ll<E5STfl6j5T QlD(T£<$ LD̂lUL|, IBfDpii) 
Q̂JIT<5STT Qupjp SU0LDrT65Tljb LDfDffJjLD 

QsDsifljBrr(5\ffisrfld) (Lp^© Q<sfujiuuui1i_ 
QP̂ 66l66l0JB§J <£1s5)I_«@L£> @60rTUL£>
@sufT)SiDfD srdjeurrgjj îsiDLpuugj?

(A) Qldft^ G^ili 2_fbu^ (Gross 
National Product)

(B) QLDrr̂  a_srT̂ rrL_@ 2_fbu<$<!§l 
(Gross Domestic Product)

(C) jflsij G<s<£liu a_rbu^ (Net 
National Product)

(D) rSl«ij 2_STT̂rril(Sl 2_ri)Lj<$<® (Net 
Domestic Product).
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India is situated in the Northern
Hemisphere of the Earth between

(A) 8°4' and 37°6' Northern Latitude
and 68°T and 97°2'- East
Longitude

(B) 8°6' and 37°4' Northern Latitude
and 67°8' and 96°2' East
Longitude

(C) 8°3' and 37°8' Northern Latitude
and 66°8' and 97°2’ East
Longitude

(D) 8°6' and 39°4' Northern Latitude
and 64°6' and 96°3’ East
Longitude

Match the following and select the
correct answer from the options given
below :
(i) Rohilkhand Plain

(a) The Worlds oldest 
folded mountains 
running in the North 
East to South West 
direction from Delhi

(ii) Sahyadris
(b) Lies entirely in UP, 

east of Ganga Yamuna 
Doab

(iii) Aravalli Range
(c) Thalghat, Bhorghat 

and Palghat are 
three important 
passes here

.Options :
(A) (i) -  c, (ii) -  a, (iii) — b
(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  b, (ii) -  a, (iii) -  c
(D) (i) -  a, (ii) -  c, (iii) -  b

29. y,uS)uS]<s5T <sul_«@
gljB̂ liunr ------------ :— <so
<̂S5)L£><£<SU U L_@STT(STT§1

(A) 8°4' LDfbpLb 37°6' <sul_«@
^ l!<Sf(5|7<S5)£5 LDtppii) 68°7' LDjppLO 
97°2' (Sijss)®

(B) 8°6' ipfbguii) 37°4'
iDjppii) 67°8' iDfbpii)

96°2' <$Lp<S@ <§IT<5<55 GlJCi5)<5
(C) 8°3' Lorf)nj|Lb 37°8' eui_<£0

LD/bpijb 66° 8'  LDjppib
97°2' ÎT<5« ClJ€5)ffi

(D) 8°6' LDfbgyLb 39°4' <siji_«0
LDfbpib 64°6' iDrbpLb 

96°3' <£lLp<95@ <§[T<5<ffi CpIJ(S5)<5

30. <iip6iJ0U(5iJ(T)<s5)n) Qurr0 ^ ,  L51ar<su0Lb 
<o£l0 Uu^Ga5iT(oi|«€ifl(sb @ 0 rB§l ffifliunnsOT 
oS)<S5>i_<S5HLJ£ Ĝ iirrBQ̂ (5l<5«:
(i) ffLoQcUGffl

(a) i£j_€b<s61u5l€OT
6UI_<̂ lLp<5̂ lQ) @ 0 (S§1 
Q < [5 6 O T ( p L D f T ) ( i S j

QffQJpLh 
2_60̂ 1 GOT U<S5)LpUJ 
LDlij.ULJ LJD(S5)60<5(oiT

(ii) ffpDUJrT̂ lflsffiGTT
(b) «rEJ65)« uj(ipe5)6OTa@ 

L̂pâ lgiJGTTOT 
gl€5)l_UUllL_
(£Iq)<5$Iq),

171SI i;(3a5<SF̂ €b
(Lp(LpQJ§JLD[T€OT
UIJ6filll5l0LIU§J

(iii) {̂,ijeiJ©)eSI LD<siD€ÔQ̂m_iT
(c) a5iKsb<Kml, GurnT«rrL 

LDjDpiJb urrd)«nril 
<̂̂ llU0D(51J glrEJ@€lTOT 

(ipSOTgll (P<5<£)ILJ« 
(KSSiJTQJITlLJffiCTT

6fil0iliû (2a5iTeLj<5€iT:
(A) (i) -  c, (ii) -  a, (iii) -  b
(B) (i) — b, (ii) -  c, (iii) -  a
(C) (i) — b, (ii) -  a, (iii) — c
(D) (i) -  a, (ii) -  c, (iii) -  b
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31. Match the regions of Puducherry U.T. 
with the year they initially came 
under French occupation and select 
the correct answer from the options 
given.

(i) Puducherry (a) 1723

(ii) Karaikal (b) 1725

(iii) Mahe (c) 1674

(iv) Yanam (d) 1739 (iv) uurremb (d) 1739

Options : ©S)0 uû (o<$iT6ij<5erT:

(A) (i) -  b, (ii) -  a, (iii) -  d, (iv) -  c (A) (i) -  b, (ii) -  a, (iii) -  d, (iv) -  c

(B) (i) — c, (ii) — d, (iii) — b, (iv) — a (B) (i) -  c, (ii) -  d, (iii) -  b, (iv) -  a

(C) (i) -  c, (ii) -  a, (iii) -  d, (iv).- b (C) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

(D) (i) -  a, (ii) -  b, (iii) -  c, (iv) -  d (D) (i) -a ,  (ii) -  b, (iii) -  c, (iv) -  d

32. LSl€5T6U0ib OTr5<5 qSIoxsttujitlI© ©ŜIT <̂§<95
<̂STT6)S)<Sb ŜlSlLblSl® U<E5<9>3>[Bl<3>65)6Tr 

Qeusin’pdreTTn'iT?

(A) Michel Phelps (A) <sidld«(S<5Q) o°oQud)u<siu

(B) Boris Shakhlein (B) (Burrrflcru ffrr««5]6ijT

(C) Takashi Ono (C) panoty

(D) Paavo Nurmi (D) urrGeurr ̂ itu51

32. Which of the following athelete has 
won the . largest number of Olympic 
medals so far?

31. LjgjffCpffifl yjCsfliueOT iij)ij(3<$ff<!5<!§l6isr
L)0̂ 1<5STT- (Lp̂6iyr(Lp̂ «S0n'<5
o°oiSlQ7(0a<s<5rri7nrffiGifl65T ^(cnj6ff><£uSl6OT <£[£ 
Q«newr@GUijuuLlL_ Qj0i_n&j<sa)Grr

lSl<o«T<SU0Lb

Cc55iT(5Qa5@̂ §jLj Qurr0^§j<5.

(i) LjgiffGffrfl (a) 1723

(ii) «U<S3)IJ<5<5ITQ) (b) 1725

(iii) iDrrGaiD (c) 1674
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33. Who of the following is regarded as 
the Architect of Indian Planning?
(A) Jawaharlal Nehru
(B) Prasanta Chandra Mahalanobis 
.(C) Amritya Sen
(D) Dhadabai Navarooji

34. Identify the correct match related to 
environment protection and select the 
correct answer from the options given 
below.

' (i) Montreal protocol
(a) Emphasises on 

protecting the future; 
the present 
generation should 
bequeath a better 
environment to its 
future generation

(ii) Kyoto protocol
(b) Banned the use of 

ChlorofLoro carbon 
(CFC) compound and 
other ozone depleting 
chemical compounds 
known as halons

(iii) Brundtland commission

(c) Resulted in an 
International 
Agreement to fight 
global warming 
which called for 
reductions in 
emissions of 
greenhouse gases by 
industrialised 
nations.

Options :
(A) .(i) -  c, (ii) -  a, (iii) — b
(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  c, (ii) -  b, (iii) -  a
(D) (i) -  b, (ii) -  a, (iii) — c

33. <£)l_l_u5)©<5<06I<55T <£)rbtil) OTorp 
<E60£LJu($iu<oiJiT turrrr?
(A) goGuewDrrsorra) Gib0  .
(B ) LS)ij6n)rnB<s <er5<|)it LDQJDeoCrBnriSlGro
(C ) ^u5)rr<$u_irr Qgtuott

(D ) r̂r^rrufTiiJ QrsGrrCSijnr̂ l

34. ftfDpff ©Lpsb LHT§]«rTUL|<5 Q.$m_(Tums5T
-EFjfllLimS&T <S£I<SS)L_€5)UJLJ L51<SOT6U0Lb 6fi]0UU<$

® 0J5§l <3^irj©Q^(5l^§iu
Qurr0i5fi56L|i£>.
(i) iBrron-ilifliuQj^Liuis^ (Lpeoii

(a) <oU0 fBJ<SU€D
Urr§J<£5ITffi<S 6U€iSllL|p §̂]< )̂(p§J
f̂Ti(3unr<sff)a5iu <5^si)(ipe5)rD 

<̂ <5 or ’ GLi0rBj<5rr€O 
(̂S5)<SO(lp(S5)fDllSlS5T0<5@ f5<sb<ol> 

•SfDp# @,Lp<5i5)€0 QJLpr5J«S6 
G6U«f5T©LD

(ii) ^ G u jm lL rr^uurs^  (ipQ}Lb
(b) 0(5(onTrGi7iToooU(6r5(5ij(T

amTussfleirr a_uGiurrffi^0D  ̂
(̂SWL-QffUJQJgJ, 6£(3<oH)fT6OT 

LD«55n_Q)£<§]d) 6£L_©S)I_
<g-fbu@«$g]Lb (5su l̂<y
Co£FITLDfELl<9SGTr, Co(51IT)60€ffT<S6TT OT65T' 
(̂S«)Lp<ffi«U U ®SU(S5) l̂L|lh 

;$e5)l_Q<S:UJ<£d) '
(iii) lSIijcottlLcoitgotlI- <s5l61gî i6ot 

(B ru n d tla n d  C om m iss ion )
(c) Q̂ rrLfl6bmiLiiDn-ffi«uuili_ 

n5rr®<S5erfl05l0j5§l 
Q(SUGlfluu(5ll£> U5KS5)l£> @0)60 
eumL)« @€!DfDuiiil<s5Tmsb 
<5TfDU0 Lb 2_€0«
Q <SU U U LJD UJ LD rr<$<S5)Q)
(5T l̂lT«@Lb 
2_l_65TU kp56ff><9j

6fil0 u u ^  Ga5iT6Lj<5<5ir:
(A) (i) -  c, (ii) -  a, (iii) -  b
(B ) (i) -  b, (ii) -  c, (iii) -  a
(C ) (i) -  c, (ii) -  b, (iii) -  a
(D) (i) -  b, (ii) -  a, (iii) -  c
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35. Which of the following is not true 
about the Employment. Guarantee Act 
of 2005? •
(A) The act was passed by the Govt, 

as per the advice of the National 
Advisory Council

(B) Every household in rural India 
’ will have a right to at least 
100 days of guaranteed 
employment every year for at 
least one adult member

(C) Work should be provided within 
fifteen days of demanding it

(D) If work is not provided within 
the given time, the person will 
be paid unemployment 
allowance which should be 
atleast one half of the minimum 
wages..

35. GQj0D€O<sumijuL| <?L_i_ib
2005-ufbr5lLû )eb iSl«rr6U06uarr6urDpOT
OTgj QLDUutudxso?
(A) G<$<£)ili LD6imD<£<il<sirr

(National Advisory Council)
*91  6 l | €5) I J U U  g l f l F f f l l L l i ) .

fglciDiDGsij rbpu u i1 l_§j

(B) @|5̂ LUrT6fil6OT<̂ll7ITLI)LJL|fD̂ ĵeiTGrr
6^QJQOJIT0 s£LLli}.€£Jlb 
êofD^uilaFLb 9 0  

0LHUgJ6Ur5̂ QJ0<5<5IT<5U§| 9 0
OJ0I_<5<£1q) 100 ISmlffiCTT GsU€5)60 
eijnriJLJUL(«<5rr6irr 
2_^i7eurr£5^rb«rT65T 2_ifls5)LD 
Qurbr5l0«ffi G®j«{iyr(5lLh

(C) G6U65)60 G<EL_(£lLJ U l̂e5)65TJ5§] 
r5n‘L_&(6nj<9>06rr GsusiDco 
^sifl<5ffiuuilk).0«« Geu«jin'(5lLb

(D) Qffirr@«<5uuL_i_ GrDij^d) Gojodgd
Q.95n-®«s<5uui_6to<sioQ)Qiu6̂ Q)) • 
Gsu€5)eouSl6b6orr 
Q̂ rr<s5)ffiiurT« ŝiofDrB̂ uilffas 
<9«.€61iiS1q) unr̂ liurTsiJgi 
Q<s5rr®«ffiuu[_ Gaj6ror@Lb

36. Which of the following fact is not true
of Finance Commission?
(A) Makes recommendation in 

respect of the distribution of the 
net proceeds of taxes to be 
shared between the Union and 
the States

(B) Recommends the principles that 
should govern the payment of 
grants in aid by the Centre to 
the States

(C) Gives recommendation on any 
other matter concerning financial

• relations between the Centre and 
the States

(D) Finance Commission is 
constituted under Article 290 of 
the Indian constitution

36. r§l̂ l<s 0(Lp65)0Ju ufbr&luj iSl0rroj0 Lb
<$<956ud)«(CnjOT QLDlUtud)6l)rT£§j OTgj?
(A) |̂ij£liud) ^€5)idulS16ot 290-<@jgj] 

Qurr§|6fi)«§uS)€ffT .lip j£l̂ )«£0 (Lp
<3 \ 65)  LD<5 <£ U  U  L _ @  €TT6 r T § |

(B) y,65fluJ6OT LDJppub 
LDrrr§l€orEJ<5 (6r5<5 ^ l65)i_GiLi 6uifl«crfl6irr 

iflffiijff Q<9:uj6burr(5la6iT urEJ<£]i_uui_ 
G6U6wr(5lLb 6rsiyrp 0 0  
Ulfl̂ §J6i5)l7«5̂ 1fD§J

(C) UDjŜlitSId) ^I0 (B§J LDrrjgl€Ô fb0
U«55fl̂ §]65)fD Q<$rr65)<5<956TT
6ULpii]06U65)̂  lfllT6lJ<̂ l<5«<5 aStUj-UJ 
Q«[TCTT65)ffi<ffi65)6tTU UlfllB§|6iDI7<S<̂ fD§l

(D) LD^iu LDfbpLp u>rrr§)60 Î7ftffi(sr5550
@65)I_GuJ Q̂nri_ITL_ja5€TT
UjbjfllLI LDfDfD 6̂ 6̂ lLirBJ<565)6TrLJ 
uiflfB§j65)i7<5<̂ ln)§j
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37. Which of the following statement is 
correct about Alpha rays?

(A) Alpha rays are positive charged 
helium nuclei

(B) The charge of Alpha ray is 
+1 unit

(C) The penetrating power of Alpha 
ray is high

(D) Their kinetic energy is very low

38. Match the following and select the 
correct answer from the option given.'

(i) Zaid Season
(a) Rice Jowar, Bajra, 

Maize, Cotton, 
Soyabeen, Groundnut, 
Jute, Tobacco etc. are 
important crops

37. ĵ,Q)o°0urr <£<|lrir«6TT urbfftuj iSl<SOT6U0 Lb
5«.|T)gi]«a56ifleb ffiflujmsffTg] ct§j?

. (A) ^Gbo°ourr <5<$rr<£6iT sraTUgj
Gj5iTu51<55TOTin'ili_a: Q̂ nfjlisii Qurbjp 
ey§s61ujijb r̂ lŷ sGifleiDiu

CB) €̂bo°oUiT <s<$rfl<scT + 1

(C) ĵ,a)o°oUnr <5̂1ifl<S5T 2ar®0 <sij <£lfD©jT

(D) ĜLlfDf̂ GOT gllU«S<S ^fbpcb LiSl«ffi
(3j65)n)Q-|

38. LS)6OT€Ll0Lb ©S]0UU<$ Ga5IT6Ij«GlflQ) 
ffrfltunrasT ®Sl(55)i_a)iLî
QuiT0 ^ Q 4ii)
(i) . Q̂ uSIlL u0 0 jub

(Zaid Season)
(a) Gggmsurrnr,

. ufr îjrr, iDffidBrrff
Gffirenrib, U0 ^ ,  
GffmumSOTT,
r§lo)<5<5l_65)60, <?65OT€b,
L|<5iD<5llSle5)60 (Lp̂ GlSllUSOT 
(Lp<5̂ 1lUU UllSllTSSCTr

(ii) ui51u06iJLb 
(Rabi Season)

(b) Lorni# (ip^cb g^ein- 
gus5)ij ffiiq.<s<£lrngi

(iii) ffiFrrflo°oU u0 <siJLb
(Kharif Season)

(c) C«rrgj<s5)iJD, urnieS],
<5I_65)Q), ulI_i_rrcoofl,
«©(§ <=̂{,<£)uJ<S5)QlJ 
(Lp<95<£)lULJ UllSllTffiGiT

6iSl0 uu^ G£iT6i|<5<srr:
(A) (i) -  a, (ii) -  c, (iii) -  b
(B) (i) — b, (ii) -  c, (iii) -  a
(C) (i) — a, (ii) -  b, (iii) — c
(D) (i) -  b, (ii) -  a, (iii) -  c

[XYZ]

(ii) Rabi Season
(b) Extends from March 

to June

(iii) Kharif Season
(c) Wheat, Barley, Gram, 

Peas, Mustard are 
important crops

Options : .
(A) (i) -  a, (ii) -  c, (iii) -  b
(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  a, (ii) -  b, (iii) -  c
(D) (i) -  b, (ii) -  a, (iii) -  c
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39. Which of the following is the busiest 
waterway in the world?
(A) Suez Canal Waterway

(B) North Pacific Waterway
(C) Panama Canal Waterway
(D) North Atlantic Waterway

39. 2_<oD<£ld> u51<s a_uGiuuffî ĵGrrGrr
i|itqjl£) ot§ j?

(A) (SjtLKoio «rro)©jrruj m̂suySl
(B) eui_ u#1o°olS1« jimsuySI

' (C) ue5TrriDrT«n'0)0jnruj ît6ul 1̂

(D) Lcomstsffriips jimsu l£1

40. Match the following rivers with the 
correct statements and select the 
answer from the options given.

(i) Kosi
(a) Once known as the 

‘Sorrow of Bengal’

(ii) ALaknanda .
(b) Also known as . the 

“Sorrow of Bihar”

(iii) Damodar
' (c) Flows through the 

Rift Valley
(iv) Tapi

(d) Its tributary
Mandakini is also 
called as Kali Canga

Options :
(A) (i) -  c, (ii) -  a, (iii) -  d,- (iv) -  b

(B) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c

(C) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b

(D) (i) — b, (ii) — a, (iii) — d, (iv )-c

40. l51€ot<oU0ld nj£§l&65)err ^eurbpi—sijr

Q<5rrL_m_|65)L_uu <9hi)p<$<5^L_6ffT lS1<sotoj0ld 

6$0UU<$(S<5IT6̂ <5€fl6lT̂

QurT0^6^ih.

(i) GffinrcnSI

(a) <oLirij<55ITGTT̂ 6i5T gJUJIJLD 

OT65rp 6̂ 0ffirr<sô <sb 

ĵfjllLIUUL-L-gj]

(ii)

(b) iSpjmflargjuuijLb
OTSifTfpi

«9|£S) Lpffi«U U ®<£l fDgj]
(iii) r̂rGiDiT̂ iT

(c) lflo°oUll UC!T6TT̂ fi5rr«0 

ajL§lujfT<5U umu^iDgj

(iv) r̂riSI

(d) ÎdDCTTlLlfTp 

LDjB̂ rr̂ leisfl, siTsifl 

ffiiBjarr OT6oiipLb 

«̂ |05)Lp<5ffiUU©<SfD§|

©Sl0uu^G îT6i|ffi0T:

(A)' (i) -  c, (ii) -  a, (iii) -  d, (iv) — b
(B) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c

(C) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b

(D) (i) — b, (ii) -  a, (iii) — d, (iv) — c
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41. Recently the Mars Science Laboratory 
Mission of NASA successfully 
delivered its rover on the surface of 
the Mars on 6th August 2012. Name 
the rover.

(A) Insight

(B) Opportunity

(C) Curiocity

(D) Odyssey

42. During this years Independence Day 
Speech Prime Minister congratulated 
the scientists and the technologists 
for the following success.

(A) Testing Agni V Missile and 
Launching RISAT-I Satellite

(B) Testing Agni IV Missile and 
Launching RISAT-II Satellite

(C) Testing Agni III Missile and 
Launching RISAT-III Satellite

(D) Testing Agni VI Missile and 
Launching RISAT-IV Satellite

43. Name the Actor who has been 
recently selected for the Dadasaheb 
Phalke Award for his lifetime 
contribution to Indian Cinema.

(A) Hrishikosh Mukherjee

(B) Shyam Benegal

(C) Soumitra Chatterjee

(D) Mirnal Sen

41. NASA-©SI or LDrrmsro

QojjprfilffiijLDrra; l̂eo<5S5)<5 (iDrrmsri))
Q ffdjQ jrriu G m rbuiju iiilfb®

66USI 2012-ei) ^spuiiilujg] r̂5<£
J § 0)«$<£l6OT Q LILLI IT <OT<SOT<SOT?

(A)

(B) ^uuraaflllk).

•(C) <sy>rflu_iiT<#)LJi}.

(D) 6̂ U)_GnSl 

4 2 ; eu0 L_ ^l<sOT^6i5Tp i51i j^ ld

f̂5l0SllLI6O(5l0IT<5<oTT LDfDgilLb 

Q^rTL^lo) p i l u  SU<ob |̂€OTIT«<S5)<5TT LSI6OTQJ0 LD 

OTrijjS QeufT)r51<5ffifT<5 surrLp^u Gû lcOTrriT?

V €̂T€L|®GiD65OT<3F GfflT<9)65) SOT 
LDfbguib RISAT-I Gffinr<srr

|̂ffi<sisfl IV g-siiffiOjesOTff Gffrr̂ sjDeOT 
LUfopih RISAT-II Qa=iu(f)€5)ffi
GsmsiT

III g'Q̂ ffieOSOTff (p«EFrrg&65)6OT
LDfbpub RISAT-III Qffiurbewffi-s
G a n m  r§lp6i|£ sb

)̂<5€5f] VI gT6Lj<$65)65OT<? Gffrr̂ QDOT
LDfbpub RISAT-IV Qffujrii€5)<5«ffi 
Gffifrerr i f l p 6qa5Q)

4 3 . @ fS $ iu  ^ ls5)(7u ui_^§i<S5)fD« 0  surryMDmsrT

(Lp(Lp<su§|L£»rreOT ur5J<5 €rfluiSl(T)a5tT<5 «g5rr«srr

f fr r C p ju  urro)G<s 6^)0 ^ 1rba;rT£6

Ĝ ITIBQ̂ @<5<5UUlll_ jSlrj-ffilT U_JITIT?

(A) lfl<51̂ G<5rT€î  (Lp<95ITg5)

(B) o l̂ujmh Quoflffisb

(C) Qcn)6rTL61̂ ijrr ffL-i_rrg5l

(D) uSllTGOTSb QffOTT

(A)

(B)

(C)

(D)
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44. On 4th July 2012, CERN announced 
the discovery of a new particle which 
is often referred as “God Particle”. 
Identify the particle

(A) Higgs Boson

(B) Anti Proton

(C) Positron

(D) Teratron

45. Which of following are true with 
regard to the factors responsible for 
land degradation in India

(i) Loss of vegetation occuring due 
to deforestation

(ii) Organic farming and water
conservation

(iii) Extraction of ground water in 
excess of the recharge capacity

(iv) Indiscriminate use of Agro-
Chemicals such as fertilizers 
and perticide

Options :

(A) (i) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) (ii), (iii) and (iv)

44. 6D-£><s3)<a) 4, 2012-d) CERN — “«i_eneiT
gj<s6rr” CT<sirrp Quu_irf)i_uuLj_ 9 0  l^ u j 

§j <5 <SID<0TT<5 55<sror@iSli£|.̂ §i f̂$eS1<£<95§].
<̂$gJ«CT)C1T ̂ <S5)l_UUnT€1Tl£> <ffirrQOTQ-|Lb.

(A) 6i/fjl<s<oh) Gurr<sti)iT€5T

CB) . t̂>6OTl£j. l_|Gljrnll_H6OT

(C) urrcnSliLijrrGOT

(D) QlijlI ijisot

45. @(B̂ liLirr6iSlQ) r§l60<j .fijySleî ssmsffr
«s5m76wfl<56rT lSI <sotgli 0€ot<sli rbgy<STT otodcu?

(i) <ffirr®«<s5)ciT ŷ$)uu£e3Trr<sb

B̂nr<suijrEJ<95GiflOTT ^yjuLi

(ii) @iu(be5)«u Qunr0 il<s<oJTrrQ) ^<sot

Gojcrrrrswr (Lp<snro LDfbgyLb jBitu

urr§i£5rrui_j

(iii) Q<f$6̂ l_©ld <£lfD6&rrrQ>

r&CD̂ lfj. ̂ 0DIJ gl<S5){D̂ 0)

(iv) sjjld iDjbpiJb . QffirrcbeSl

(Lp^eonw .^aGijrr Q<$u5)<s<g;d)<onSl6ijT

Qje5)<5Q̂ rr€5)«uj(T)fD 2_uGiun\9;Lb

6$ 0  U Û Ĝ IT64 ffiOT

(A) (i) LDfTjpLD (iii)

(B) (i), (iii) LDfbpih (iv)

(C) (i), (ii) LDfbpLb (iii)

(D) (ii), (iii) LDppib (iv)
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Match the following places with their 
temples ' and select the correct 
answers from the options :

(i) Kanchipuram
(a) Kailasha temple

(ii) Ellora
(b) Kandariya 

Mahadeva temple
(iii) Deogarh

(c) Kailasanath temple
(iv) Khajuraho

(d) Gupta Temple
Options :
(A) (i) -  a, (ii) -  c, (iii) -  d, (iv) -  b
(B) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b
(C) (i) -  d, (ii) -  c, (iii) -  a, (iv) -  b
(D) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

Arrange the following in correct
chronology and select the correct
answer from the options :

(i) Lord Mountbatten was
appointed viceroy of India

(ii) The congress formed the interim 
Government

(iii) Mountbatten presented a plan 
for division of India

(iv) The British Govt, announced
that they will transfer power to 
Indian hands not latter than 
June 1948

Options :
(A) (ii), (i), (iv), (iii)
(B) (i), (iii), (ii), (iv)
(C) (ii), (iii), (i), (iv)
(D) (i), (iv), (iii), (ii)

46. lSl<5OTOJ0Li> g)l_r5Jffi<S5}<olT r̂5J@6TTefT
(5<KmiS1eb<s(GT5i_dn- QuiT0 ^ 0qLb.
iSlsifT€U0 ijb OS10UU.5 Ga5iT6L|ffisifl€b ^ 0 f5§J 
tflfllLimSCT 6$<Sfll_<o5)lLI<$ G£iT(5Q<$®<S.£61JLb.
(i) ffirr(0 )̂L|i7ii»

(a) <sfl<5<sorr<?!5rT<5iT GsrruSleb
(ii) CTd)Ga)rrijnr

(b) smsifTLifiu LDorDrrĜQjiT 
G<smi51o)

(iii) iq.Gu_inr.95iT
(c) rsmgiT

(iv) sn-sgijnrGo/Dnr

(d) @ u<£it GssrruSlo)
<sfil0 UU£ G<95IT6L|i556TT
(A) (i) -  a, (ii) -  c, (iii) -  d, (iv) -  b
(B) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b
(C) (i) -  d, (ii) — c, (iii)-a ,  ( iv ) -b

(D) (i) -  c, (ii) — a, (iii) — d, ( iv ) -b

47. L9 <5OT<SU0<SL1 eOTQJ(T)(SJ)fD« ffilTSO CUlfliSflff
(xpeofDuSlcb <suifl̂ <?uu®£«$<ŝ i£>. L51ar<su0LD 
6$0 uu<$G;5iT64<s5<S!f)<ob @ 0 i5§J ffifl u_i nw 
®S]a)l_€5)UĴ  Ĝ IT[BQ̂ ©«<56L|Lb.
(i) r̂b̂ liurToSlcb <s?n<su<#]ijrnijnr.£

QldgttsotlL GulLl_®jt lSIijlj
l§)llJu5)<S<$UULJ_mT

(ii) @<s8)L_ffi«srr60 • <srrr&j<£)i76ro
2_0<SUIT<5̂1UJg|

(iii) gjiĵ iunrefileirr i51ifl0Sl<S5)<S5T<ffi<srT65T
<£1l1i_<565)<$ QiD<STTOTrilGuLi_OTr iS1ijl| 
Qĵ piBĵ lesTmir

(iv) sg-§)<sijT 1948-«@ (Lp6OT05Trr<sb
l51 ifl <=̂ 17*,
glr5^1uuiira;<STT <s5)«55effl€b
^uuo)i_<ffi«u Gurr<sûrr<ffi
^n51©Sl̂ a5§). 

(ô l0 uu^G îTsijffi6Tr :

(A) (ii), (i), (iv), (iii)

(B) (i), (iii), (ii), (iv)
(C) (ii), (iii), (i), (iv)

(D) (i), (iv), (iii), (ii)

21 [XYZ]



48. Match the following words with their
exact meaning and select the correct
answer from the options given.

(i) Famous
(a). Conveys the idea of 

being recognized by a 
large number of 
people but generally 
lacks the glamorous 
connotations .

(ii) Celebrated
(b) Suggests someone or 

something is well 
known about and 
admired by very 
large number of 
people

(iii) Well known
(<5) Suggest that some or 

something is much 
talked about and 
praised

Options :
(A) (i) -  a, (ii) -  b, (iii) -  c
(B) (i) -  c, (ii) -  a, (iii) -  b
(C) (i) -  b, (ii) — c, (iii) -  a
(D) (i) -  c, (ii) -  b, (iii) -  a

49. Find out the word which is an odd one
out from the following

(A) slanderous

(B) defamatory

(C) malicious

(D) perseverance

48. iiil6irroj0 Lb Q<?rnT).9;(Gnj<s0 uSlsffffiflturrgOT
QurT0<S5)ClT Q<5(T®«ffiUUlll_ efi)0UU£

G<5IT6L|£5€lf)d> (fl£ITn)Q£©<$gJ

Qunr0^a56 îi).

(i) Famous
(a) Conveys the idea of 

being recognized by a 
large number of 
people but generally 
lacks the glamorous 
connotations .

(ii) Celebrated .
(b) Suggests someone or

something is well 
known about and
admired by very 
large number of
people

(iii) Well known
(c) Suggest that some or

something is much 
talked about and
praised

©Sl0UU<5 (S|$IT6lJS6iT:

(A) (i) -  a, (ii) -  b, (iii) -  c

(B) (i) -  c, (ii) -  a, (iii) -  b

(C)' ' (i) — b, (ii) — c, (iii) — a

(D) (i) -  c, (ii) — b, (iii) -  a

49. Q«rr®<ffi<5uuil(5leiT6iT Qffrnfi<956if)6ijT
Qa5rr@̂ liiSl6b QffrrebcfleioOTT
<56ror(SiL5]iij.«<56̂ ii).
(A) slanderous

(B) defamatory

(C) malicious

(D) perseverance
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50. Match the following, with the words 
giving opposite meaning and select 
the correct answer from the options.

(i) Enslave
(a) squander'

(ii) Misfire
(b) emancipate

(iii) Hoard
(c) succeed

(A) (i) -  b, (ii) -  c, (iii) -  a
(B) (i) -  a, (ii) -  c, (iii) -  b
(C) (i) -  c, (ii) -  b, (iii) -  a
(D) (i) -  c, (ii) — a, (iii) — b

51. Find out which one of the following 
explanation correctly matches the 
word given below.

Stationery
(A) Not moving or changing
(B) Paper and other writing 

materials
(C) A floor of a building
(D) A place where something is 

located

52. Find out which one of the following 
explanation correctly matches the 
word given below :

Counsellor

(A) A member of an administrative 
or advisory body of people

(B) A garment worth around the neck

(C) A small entrance

(D) A person who gives guidance on 
personal and psychological 
problem

A

5 0 .  i £ l < s i f T O J 0 L b  Q < 5 F U f D < 9 5 ( G n j f f i @  a = r f l i u r r < S C T

C T ^ l l T f f Q f f f T Q X o S X S O  < o $ 0 U L J £  <3 ^ I T « o L | « G l f l Q )  

£ j j ) 0 P > g i ]  G £ 5 f r ^ Q < 9> ( j ) S > g ]  Q u r T 0 ^ G L | L D .

(i) Enslave
(a) squander

(ii) Misfire
(b) emancipate

(iii) Hoard
(c) succeed '

(A) (i) -  b, (ii) -  c, (iii) -  a
(B) (i) -  a, (ii) -  c, (iii) -  b
(C) (i) -  c, (ii) -  b, (iii) — a
(D) (i) — c, (ii) -  a, (iii) -  b

5 1 .  Q f f i r r @ f f i £ B u u i l i _  Q < F r r o ) e £ i < 9 5 0 ,  i 5 l € i y r e u 0 L b

O T J B j S  6 f i ) G ! T < 5 <S5 L b  f f l f l l L l f T f f i  Q u r T 0 I5 g j ] L b ?

Stationery
(A) Not moving or changing
(B) Paper and other writing 

materials
(C) A floor of a building
(D) A place where something is 

located
*

5 2 .  Q < s r r ® « « u u i l i _  Q f f r r a b s p j a j ® ,  i5 1 s 5s T € U 0 L b

eS io ra su b  < E F ( f l i L ir r < s5 Q u r r 0 j 5 § ] i i > ?

Counsellor

(A) A member of an 
administrative or advisory 
body of people

(B) A garment worth around the 
neck

(C) A small entrance

(D) A person who gives guidance 
on personal and psychological 
problem
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53. Match the tribes with the states they 
are present and choose the correct 
answer from the given options.

(i) Khasis (a) Bihar,
Odisha

(ii) Mundas (b) Andaman
and Nicobar 
Islands

(iii) Shompens (c) Assam,
Megalaya

Options :
(A) (i) — c, (ii) -  a, (iii) — b
(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  a, (ii) -  b, (iii) -  c
(D) (i) -  b, (ii) -  a, (iii) -  c

54. Match the following Biosphere 
reserves with their location. Select 
the correct answer from the options 
given

53. <£GlLp Q<srr®««uuili_ LDrrjglcorEJffî i-eOT
• ULpfBJ0 lq_llS]sOT̂<o5)£LJ Qu[T0 <g<£l

6fil0UÛ Ga5IT6L|£5Gtfl€lS]0[B§J ffff) IU fTOT
©S]a)L_65)UJ Gfi5ITJBQ£B(5l<5<5.
(i) <$msnSlero (a) LSQjprriT,

(Khasis) î̂ Giurr
(ii) (Lpari_nr<ofo (b)

(Mundas) rfJIGsfrurriT
$)Q-|<9j6TT

(iii) Geî rrih (c) ^Gnxsiurnb,
GusOTsfu GLDffirrcoiurr
(Shompens)

s£]0uu^ Ga5iT6ij<5eiT:
(A) (i) -  c, (ii) -  a, (iii) -  b
(B) (i) — b, (ii) — c, (iii) — a
(C) (i) -  a, (ii) -  b, (iii) -  c
(D) (i) — b, (ii) -  a, (iii) -  c

54. LS16OTGU0LD a_uSliflCTr<s G<5H6rruui7Limli
U0̂ 1«S5)erT l̂GUfbj5)6i5T 0̂DUDG&li_<5gJl_<SOT 
Qunr0^§j<s. iSl6iiT<oiJ0Lb Q&l0ui_i£ 
Ĝ IT61JffiGlfl€6)0rB§J ff(fllUrT€5T 6)S)C5)I_65>IJĴ

(i) rBUffiGijffi
(a) <£)<s<£)uS)arr

IDfbgyLD GLDfi)0LJ
u@̂ l<56rr

(ii) ^uMuurrsb
(b) 0̂g55rrT<?5:eou

<£)njrn&j
LDippih ii).uiTr&j
<SFLDQQJ€(flu

(iii) î _€ifDrrr&j tc|-urn£j
(c) GiDarreoujrTQSldn'

arrGijrr 0©mpu
u@$<s6rr

(iv) <EB0«9FsifT ggr£j<srr
(d) îflcrun-Q&lsiyT 

iDy,(TurrOTT̂  
lDfTQJL.l_̂ 05T 
U@̂ I<5CTT

cfil0uu^ G^it64<sot :
. (A) (i) -  c, (ii) — d, (iii) — b, (iv) -  a

(B) (i) -  d, (ii) -  a, (iii) -  b, (iv) -  c
(C) (i) -  a, (ii) -  b, (iii) -  d, (iv) -  c
(D) (i) -  c, (ii) -  d, (iii) -  a, ( i v ) b

A

(i) Nokrek
(a) Part of North

and w6st
Sikkim

(ii) Similipal
(b) Part of Siang

and • Debang 
Valley in
Arunachal 
Pradesh

(iii) Dihang Dibang
(c) Part of 

Garo Hills 
(Meghalaya)

(iv) Kanchenjunga
(d) Part of 

Mayurbhanj 
district 
(Orissa) .

Options
(A) (i) - c ,  (ii) -  d, (iii) -  b, (iv) -  a
(B) (i) -  d, (ii) — a, (iii) — b, ( iv )-c
(C) (i) — a, (ii) — b, (iii) -  d, ( iv )-c
(D). (i) — c, (ii) -  d, (iii) -  a, (iv) - b
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Which of the following is not correct? 55. lSl€5T6)J0ljb OTfTjSj ĜUn)rT(55T§i?

(A) National Youth Day is celebrated 
on 12th January every year

(B) • Martyr’s Day is celebrated on
30th January every year

(C) United Nations Day is celebrated 
on 26th October every year

(D) Human Rights Day is celebrated 
on 10th December every year.

IBM 4300 series, 308X series are 
examples of which computer?

(A) Micro Computer

(B) Mini Computer

(C) Mainframe Computer

(D) Super Computer

Choose the Empirical Formula of 
Benzene

(A) C6H6

(B) C2H2

(C) CH

(D) C3H2
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(A) G<5<£1uj ^  65) OT(CTj liras 6tt
<s£QjQ©Lirr0  GU0 L_(LpLD ggeffr&Jif) 12

^ ld G<s<§ Q«iT(srorL_rri_uu®̂ lip§j
(B) ]̂u_irr<£]a5<sTT 6£®jQ<ajiT0

GU0l_(LpLD gDSCTQJlfl 30 ^L0 
^spa^asasu u

(C) 6g<£<£)tu jBrr̂ asifleirr ĵlsffnb,
^suQqjit0  su0 i_(y)Lb .̂ asGi_m_ni
26 ^ ld  Ga5̂1

Q<5rr65i5n_m_uu(5l̂ lfD§l
(D) iDecfl̂  2_ifl0DLD«err Îotld

6̂<sijQ<surr0  GU0 i_(pijb iq.auburr 10 

^ih (5 ^  Q«rr6rori_m_uu(Sl̂ lfD§]

56. IBM 4300 308X g)<@sxsu
OTjBjS 6U«S5)<5 <5lhuy,L_l_lfl<si5T 2_.$m7655rLb?

(A) eiDiD«GijiT«ii)uy,Lli_iT

(B) uSlssfl «Lbujy,il.L_iT ■

(C) QlDÛIotT o^ClJlb ffiLbuy,lll_IT

. (D) L̂Jurr<Kihuy,ilL_iT

57. QusijT̂letfrlOTT CTLhiijlrirlffiao) 0rbluSilu}-65)OTT 
(Empirical Formula)

(A) C6H6

(B) C2H2

(C) CH

(D) C3H2
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58. The poison of a cobra affects which of 
the following first?
(A) Central nervous system

(B) Blood vessels and its linking

(C) Heart

(D) Brain

59. Pedology is the. study of

(A) Soil

(B) Microbes

(C) Worms

(D) Fungus

60. Based on the amount of Yolk present 
the mammalian eggs are classified as 
one of the following type. Name it

(A) Microlecithal

(B) . Mesolecithal

(C) Alecithal

(D) Macrolecithal

61. Excessive appetite leading to 
increased intake of food is known as

(A) Polyurea

(B) Polydipsia

(C) Polyphagia

(D) Polymorphia

[XYZ]

58. ■ rBrr«uufrijbiSlei5T OTtijfisu u^^Igdiu
(ip£€iS)eb urr l̂«@ih?
(A) <S5)LDIU J5IJLDL-1 LD6rori_€0Lb

(B) @I7<5<5 r5US1Tr5J<5GTT LDfbgJ|lb 6̂5)0J
Qa5fri_iTurr<o5r«5)Qj

(C) • ĝ U-ILD

(D) (LpeiDGTT

59. “LSi_rrQ)g5)” ots5)<e5lj urbr̂ luu <56befi1?

(A) iDsror

(B) mi<sggrgg)iu5]ifl<s<oTT

(C) LJ(Lp««eTT

(D)

60. un-̂ iluj.ffisrfl€OT(np'LLc5)i_«€ifld) rgl<sir>p̂ ĵerTen 
LD(gj£FL_<5>0 l̂Srr€5)(SUlj Qurrp<5§| <̂<SiDQJ<S<oiT 
l5l6?rrQJ0LDrrp <SU€5)«UU®̂ UU®<̂ l€ijTfD€5T.

. (A) ©DiDsGijrrQcô l̂ sb

(B) uSG<5ruiTQ60GnSl̂ a5Q)

• (C) <̂rQ 60^1^0)

(D) GLDffiGijiTQeô l̂ d)

61. û lu_|655rrir6iĵ  §n«fer@̂ 6iSl6iyr(TQ)
<̂£)<5̂ 6TT6̂  2_6W6l| a_LQ«rT0T6U§J

----------------- ------ OT65TULl(S)Lb

(A) urrGSlyjflturr

(B) urT661kj.Lj(snS)iurT

(C) urr661o0oGû luj(r

(D) urT6iSliDrTiTo0oi51ujrr

A26



62. What is 35% of a number, if 12 is 15% 
of that number?
(A) 28
(B) 12

(C) 5
(D) 33

62. 6^0 OTiswrgssfldjT 15% 12 ctqjAq),
d̂iQojerorsijeflsijT 35% ctgotcot?

(A) 28
(B) 12 .
(C) 5
(D) 33

63. If x -  y = 3 and xy = 10, then what is 
the value of x3 -  y3 ?
(A) 27
(B) 100
(C) 117
(D) 127

63- x -  y = 3 LDfiipLb xy = 10 ctscAq)
X 3  -  y 3  -< S O T  L D ^ l U L |  <ST<SO T<SO T?

(A) 27
(B) 100
(C) 117
(D) 127

64. What is the probability that a Leap 
Year selected at random will contain 
53 Sundays?
(A) 1/7
(B) 2/7
(C) 4/7
(D) 5/7

64. 9 0  gSu 6U0l_<s5£§1q) 53 (gjrruSlrbpa;
< £ ) L p < S 5> l D < S G T T  6 U 0 € U ^ ( T ) f f i r T 6 O T < S U n U J L J q < 5 <STT 

O T Q J 6 U C T T S L | ?

(A) 1/7
(B) 2/7
(C) 4/7
(D) 5/7

65. By simplifying

what will you get? 
1

x
4  4  4  4x4 -  y* x* -  y

(A)

(B)

(C)

(D)

2 2 * -  y

x2 + y2

x4 - y 4

x4 + y4

65.
2 2 X y

4  4  4  4x * - y  x -  y*
OT6OT6OT ̂ l€5)L_<50LD? 

1(A)

(B)

(C)

(D)

2 2 XT - Y

x2 + y2

4  4* - y 4

4  4x + y

“S3 *0 ffî l6OTrrd)

A 27 JXYZ]



66. Match the following and select the 
correct answer from the options given.

(i) Article 32

(a) Empowers High
Courts to issue writs

(ii) Article 139

(b) Empowers Supreme 
Court to issue writs 
for the enforcement 
of Fundamental 
Rights

(iii) Article 226 

(c) Empowers Supreme 
Court to issue writs 
for the enforcement 
of Rights other than 
Fundamental Rights

Options :

(A) (i) — c, (ii) -  a, (iii) -  b

(B) (i) -  b, (ii) -  c, (iii) -  a

(C) (i) -  c, (ii) -  b, (iii) -  a

(D) (i) -  b, (ii) -  a, (iii) -  c

66. iSl<5irrQj0ijb 6$0uû (3<5rnaj<5<sifl<sb @ 0 j5gl
ff[fllJJfT€5T QSl<S5)l_<S5)lLia3 (p£IT£Q̂ ®<ffia;6L|Lb.

(i) QuugjoSljil 32

. (a) a_ujiT̂LDOTrrDfij<K(Gf5<50
iflll. ĴjS5)055T
lS)fDUL51ULI£fb@

Qjipr£j@.£)fDg]
(ii) QuiTgi<s£i)<£) 139

(b) 2_ff<fi|̂ lLDaTrD̂ (T)0 

«9Hq.UU0i)l_
2_ ifl €5) LD €5) CTT 

S-gÛ l̂ QffUJlL) lf)L 

<̂S5)65BT l5)(DUlSl<5<5 

^^.snrpb

(iii) Qufrgj6fil̂ l 226

(c) S-ffffil̂ lLDOTrfD̂ rb̂

9̂|l£j.UU(SiS)L_

2_(fl<S5)L£)<5QT <$oS)lJ LDfT)fD 

£_ if) €5) LD <5 €5) GIT 

£-gD̂lQ<SFUJlLJLb ifllL 

^65) GM lSlfDLJl51«<5

^̂ Isrrgnb

6ULpfBJ@<̂llD§J 

6fi)0UÛ (3̂ IT64«GTT :

(A) (i) — c, (ii) -  a, (iii) — b

(B) (i) -  b, (ii) -  c, (iii) -  a

(C) (i) -  c, (ii) -  b, (iii) -  a

(D) (i) — b, (ii) -  a, (iii) — c
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67. What is the expansion of VSAT?

(A) Visual Satellite

(B) Virtual Satellite

(C) Visual Sound Applied Terminal

(D) Very Small Aperture Terminal

68. Which of the statements are correct 
on the Nobel Prize Winners? Select 
the correct answer from the options 
given below :

(i) Ainartya Sen won Nobel Prize in 
Chemistry.

(ii) Hargobind Khorana won Nobel 
Prize in Medicine

(iii) Venkatraman Ramakrishna won 
Nobel Prize in Zoology

(iv) Subramaniyan Chandrasekar 
won Nobel Prize in Physics

Options :

(A) (i) and (ii)

(B) (ii). and (iii)

(C) (i) and (iv)

(D) (ii) and (iv)

67. VSAT -ott <sS\ifl<surr«<$Lb ctgotcot?

(A) Visual Satellite

(B) Virtual Satellite

(C) Visual Sound Applied Terminal

(D) Very Small Aperture Terminal

6 8 . GrBUUCU Q<SU6OTJD<SUIT<E5<Sfl<STTLJ UfT)ff)llLI

S a fb p f f iG t f lo )  OTgj fflflLUrTOTgjl?

^ ^ ff iQ < 5 r T (5 l< K « U U llL _  ® S ] 0 U U < $

Ga5iTeij<s5<5ifl<sb ^ 0 f i > g J  «EFifl u_j rrcOT o& )e5)i_

G £ m B Q < $ © < 9 5 «6 L |L i> :

(i) L̂DIT̂ UJrT Q.SF6OT • 

G € u ^ lu 5 1 u j^ i« < 5 r r < 5  C iB r r u o )  u i f l a  

QajdnprnT

(ii) Q/DiirG<5iTt5]i5̂  @ijn-6ffTrr 
^ 0 ^ § j Q j ^ f b < s 5 n - <5  G r B r r u s b  u i f l *  

Q<su6OTn)nrrr

(iii) QcurijffiilijrTLDOTr ijrrLD<̂ l0€î «55rrr
6filso r& j< ^ lu jg iijia ]rra : G jB rru G t) u i f t a

QsLlOTTpiTIT

(iv) *u ijibcrofl iliqjt ijCteasiT 
g )u jf i)L S lu j^ ]a ff irT 6 ffr  G r s r r u a )  uifl6W«SF 

QeUQTTtDfTIT

6 ) S ) 0 U U £  G^IT61J«6TT :

(A) (i) L D jp p ib  (ii) .

(B) (ii) LDfDgjLD (iii)

(C) (i) LBfbpih (iv)

(D) (ii) LDjbpLb (iv)
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69. Which of the following is not true? 69. L5l<SOT6U0®J<Sd<SUfbptSTT CTrijjS 

Q ldilhucoco?

(A) Members of Legislative Councils 
have the right to vote in the 
Presidential Election

(B) President cannot promulgate 
ordinance when the parliament 
is in session

(C) The President can nominate 
12 members to the Rajya Sabha 
and 2 members to the Lok 
Sabha .

(D) The President can declare war 
and conclude peace with the 
approval of Parliament

70. Match the following Constitutional 
Amendments with the subject that 
deals with. Select the correct answer 
from the options given.
(i) 73rd Amendment-

(a) Right to 
Education

(ii) 86th AmonHmnnt -
(b) Cooperatives

(iii) 97th Amendment -
(c) Panchayat Raj

Options :
(A) (i) -  c, (ii) -  a, (iii) -  b
(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  a, (ii) -  c, (iii) -  b
(D) (i) -  b, (ii) -  a, (iii) -  c

(A) @t̂ iurr<5<5 <so(oU0<5 rrscT
Ĝrr<s3oS)<ob <?l1i_ ld€otit) Gldq) ^ ctxsu
2_pUl!ii)eOTIT<$6TT ̂ ll@lfla)LD 
QummigjTGTTSffTIT

(B) u rrijnr̂6T5 uDcin-p s«i.ili_<5 Q<$m_iT
nj65)i—Qupih Qurr(Lp§i, 0uj_iuijr<5.£
<!565)606UIT • ffill—LD
l51n)LllS)<5<S glULJGOITgj

. (C) @l£)-LUI7<Ŝ  (§565)60QJ IT 12
S.pu l51 <S5TIT<5<07) GTT, Ijrrgg LU
£Furr®S1fb@i£>,
2 2_puLSlOTriT50DenG6orr<5 
ffunraSlriî Lb uifljB§j<s8)ij«<ffi (ipi£)_u_jLb

(D) @ll}.UJ[r<5̂ <̂o5)60<oUlt
. uiTijrr^meirrp^ein'9ui_|^ ]̂L_€ijT 

ibi1(5i<3ld GurrewijiLiii)
. <̂S5)LD̂ lS5)lLllL|Lb ^$©@<555 (LpUj-iqiit

70. <EFLJ—LDS5TJX) <̂ IT̂ 0 r̂BJ«a)<SrT
Q̂ITL-ITUrrOTT . ©5161̂1 UJr&J<5(0l_<SOT
Qurr0^6)LjLb.

(i) 73<su§j ^10^ ld-
(a) &<soeSi a_ifl<s5)L£»

(ii) 86«>i§] $l0££ih -
(b) <3fiLL_©p€L|

urbfftiugj
(iii) 97gu§ i ^ 1 0 ^ ld -

(c) LK̂-SFfTlUjSSjl 
crrr̂ iLiih

©S)0L1Û  Ĝ IT6Lja€TT :

(A) (i) -  c, (ii) -  a, (iii) -  b

(B) (i) -  b, (ii) -  c, (iii) -  a
(C) (i) -  a, (ii) -  c, (iii) -  b

(D) (i) -  b, (ii) -  a, (iii) -  c
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Match the following and select the 
correct matching from the options 
given.
(i) Ramanujacharya

(a) Advaita
(ii) Sankara

(b) Dvaitadvaita

(iii) Madhvacharya
(c) Visishtadvita

(iv) Nimbarka
(d) Dvaita

Options :
(A) (i) -  c, (ii) -  a, (iii) -  b, (iv) -  d
(B) (i) -  b, (ii) -  d, (iii) -  c, (iv) -  a
(C) (i) -  b, (ii) -  a, (iii) -  c, (iv) -  d
(D) (i) — c, (ii) -  a, (iii) -  d, (iv) -  b

Which one of the following is not 
correct?
(A) Alberuni wrote Kitab-ul-Hind

(B) Ibin Battutah wrote Taj-Ul- 
Masajid

(C) Firdausi wrote Shah Namah
(D) Amir Khusru wrote Tughlaq 

Namah

The correct sequence of the dynasties 
that ruled the Vijayanagar Empire 
may be selected.
(A) Saluva, Sangama, Tuluva,

Araveedu
(B) Sangama, Tuluva, Saluva, 

Araveedu
(C) Sangama, Saluva, Tuluva, 

Araveedu
(D) Tuluva, Saluva, Sangama, 

Araveedu
31

i3<sk<su0ii) <sfil0uu^(3^iT6q<5GtfleiSl0r5§j 
a=iflu_irr<offr QurT0 «5£<56ff)£ Ĝ nreî  Qffius.

(i) ijn-mngy^rra^rritujrr
(a) ^<$0D6u^rr

(ii) ffr&jsijrr
(b) ^65>oj<$rr  ̂

sw oj^rr

(iii) LD̂ eurTffaFmTiunr
(c) €̂ <#](Ŝ iL_rr̂

©DSUfî fT
(iv) rflLbuiTarr

(d) <5<S5)GJ<$U 

6fil0 UU^G^IT6̂ <K<siT :

(A) (i) — c, (ii) -  a, (iii) -  b, (iv) -  d

(B ) (i) -  b, (ii) -  d, (iii) -  c, (iv) — a

(C) (i) -  b, (ii) -  a, (iii) — c, (iv ) -  d

(D) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

7 2 . iSl€5T<su0 ih <on5jS5 ^sijTgu ffifltLimsu

Qurr0 ]B̂ rr§j?
(A) <£]Q)Qu0€5f) OT(Lp̂ luj§j $<$rru - 

2_eb-6tffjh5<S
(B) ugir̂ rr OT(L£$liugjj £rrg> - t

2_Q)-lB<SFfTg§l̂
(C) o°olS1 nrQ̂ 6rr<snSl OT(Lp̂ liu§j €̂ .nr rsrriDrr
(D) îSlT @GTO0  CT(Lp̂ llU§] §]«S56TT«5

rsnruDrr

73. ©Slggiu jBaijuGuijijQDaPc^erori-
QJLbff̂ COTlflCTT €VJ(f1S5)<EFS5)lU

ii>.
(A) ■ynxcnjcurr, ffriiSLorr, gj^eurr,

(B) £Frii«miT, §KefTj6urr, (̂Gtjeurr,

(C) ffriiffimrr, ffrr̂ GuiT, §K€nj6urr,

(D) gjKGnjOjrr,
*SHU©S5j

ffHlQjGLirr, tffEJffilDIT,
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74. Which of the following name do not 
refer to Rajendra Chola I?

(A) Mudikonda Cholan

(B) Cholendra Simman

(C) Mummudi Cholan

(D) Panditha Cholan

75. Farmers selling their product directly 
increase their income. Direct selling 
arrangement for farmers made in 
various places are given below. Match 
the following and select the correct 
answer from the options given

(i) Apni Madni

(a) Andhra Pradesh

(ii) Rythu Bazar

(b) Punjab, Haryana and 
Rajaethan

(ILL) Uzliuvdr Sundui

(c) Pune

(iv) Hadsapar Mandi

(d) Tamil Nadu

Options :
(A) . (i) -  c, (ii) -  d, (iii) -  b, (iv) -  a

(B) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

(C) (i) -  a, (ii) -  d, (iii) — b, (iv) -  c

(D) (i) — b, (ii) -  a, (iii) — d, ( iv )-c
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74. (ip^eomjb CterrLpisiDija; @f$<5<srr<5
Quujli L̂ 6in’QJ0QJ€OT<51JIT)g))GTrCT§l? -

(A ) (ipii}_ QasnwTL. Gffrrip©?!

(B) G<5Frr(o ljm5<£I ij £) ld ldsot

(C ) (xpii>(xpi£j_<3= GfFiTLpeiyr

(D ) G r̂rLpdfr

75. oSloiffrniSlsssTT QuiT0ilffi€5)GrT Grs^ujrrffi
ĜLIIT<ffi(oTT§| ®J(fTjLDU65T5j65)aj 

^̂ l«ifl<5<̂ l6i5TfD<SOTiT. Qurr0LLae5)6rr
(SfBiJi t̂urra ®S)ji)@Lb (5TfT)Ufr@
©@<ajamiS)«(GT5<s@ u€bG<sup @L_r&j«sifl6b 
QfflLJUJUULl̂ STTCITgJ <̂SLIfD<S?DfDLJ
Q u r r 0 ^  i5l6i(T6iJ0Lb 6 fi)0u u ^
Ga5IT6lJ<K<olfl66l0(5§J <9=rfllUfT€5t qS1<o5)L_jS5)UJ<5 
G^rnbQjS® <$<£6L| LD.
(i) LD̂ 0(fl

(a) ^^ijLJiSlijG^ffLb

. (ii) G D ijp § \ u^rriT

(b) u ^ a m j, onjifliuiTSOTiT 
IJIÎ WUgjllbUI

■ (iii) sy_yj<oLjfi

(c) y,Cffrrr

(iv) o/DLffrruiT ldcottî

(d) û51̂ njrr(i)

®Sl0uu^ G.$it6h<£<stt :

(A) (i) -  c, (ii) — d, (iii) — b, ( i v ) - a

(B) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

(C) (i) -  a, (ii) -  d, (iii) -  b, (iv) -  c

(D ) (i) -  b, (ii) -  a, (iii) -  d, (iv) — c

A



Match the following and select the 
correct answer from the options given 
below :
(i) Tathvabodhini Sabha

(a) Gopala Krishna 
Gokhale

(ii) Servants of India Society
(b) . Madam

H.P. Blavatsky

(iii) Theosophical Society
(c) Henry Vivian 

Derozia

(iv) Young Bengal Movement
(d) Devendranath 

Tagore
Options :
(A) (i) -  a, (ii) -  d, (iii) -  c, (iv) -  b
(B) (i) -  c, (ii) -  b, (iii) -  d, (iv) -  a

(C) (i) -  d, (ii) -  a, (iii) -  b, (iv) -  c
(D) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c

Who said the following?
“By Independence, we have lost the 
excuse of blaming the British for 
anything going wrong. If hereafter 
things go wrong, we will have nobody 
to blame except ourselves”.

(A) Rajaji

(B) Dr. Rajendra Prasad

(C) B.R. Ambedkar

(D) Jawaharlal Nehru

7 6 . LSl6OT6U0 <SU65T<oUfb6!DfDU Ql_irT0 <!5^ 6L|Lb. 

l5l6ijTQJ0lh 6fil0UU^G£5IT6I|<56tfld) ^ 0 fB § l 
6F(flUJIT65T sfi1a)l_e5)UJ  ̂G^rriBQ^©<5ffi6lJLb.

(i) <$<5QjGun-$l6?sf] ffurr

(a) ClanrurrGD <̂l0 <si%6OTT 
(HarraG!®)

(ii) £g)jB<£liu GffGusiT.$<OT <Fr£j<sijb

(b) Gldlld H.P. 
lSl6TT6UrTll<Sn)<£) •

(iii) l̂iurrG<5:rri51<56b«g:(S5)u

(c) Qon}0mf)l <sfile£lu_iar
Qi_Coijrr̂ liurr

(iv ) glsffxsnruj Gurij<5rr(SiTgluu«5«Lb

(d) Gfl5G6uj®<£liji5rr<£ r̂r<5tfi.iT

QSl0uu (̂5 [̂ir6L|«ffieiT :

(A) (i) -  a, (ii) -  d, (iii) -  c, (iv) -  b

(B ) (i) -  c, (ii) -  b, (iii)  -  d, (iv) -  a

(C) (i) -  d, (ii) -  a, (iii) -  b, (iv) -  c

(D ) . ( i ) - b ,  (ii) — d, ( i i i ) - a ,  ( i v ) - c

7 7 . L^€OTei]0 <Sijar6ii(T)(S5)fD<B s«.r51iu g j turriT? 

“ ^rB^lijLD Qufi)fD5>65r îpsOLb, njiib jsrriliq-d)

2_6TTGIT f&rTLb @65fl

}̂,[5J<SCfiSl)lU(S5)l7ffi 0CT)rD<5tfipLD 61JfTUJill iSlciDQR 

glLprB§lcfililGi_iTii». glcjsflGLDeb ^rG^sptb 

^Q jp  r5L_rB̂ rTQ) j5Lb(S5)LD« 065)fD <9fl-ffj)«9; 

Q«n€iT<oy0D^ <$®S]ij r^mo @€5)n) 

5fl.p€U^ft)0(2<SIip lLirT0u5l6b<Sff)<oO •

(A) @ijrr r̂T$

(B ) i_rr<5i_iT ijrrCSggiB̂ lij LSlijcrorr̂

(C ) B .R . c^ubCSu^aiT

(D ) ^euan)iT€orrQ) Cr&0
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78. Match the following poverty
alliviation programme of Govt, of
India with their aims.
(i) SJSRY

(a) Aims to generate wage 
employment for the poor 
unskilled people living in 
rural areas

(ii). SGSY

(b) Aims at creating 
employment opportunities 
both self employment and 
wage employment in 
urban areas

(iii) SGRY

(c) Aims at improving the food 
and nutritional status of 
the poor

(iv) ICDC

(d) The govt, provides partial 
financial assistance to Self 
Help Groups through. 
banks

Options :

(A) (i) -  d, (ii) -  b, (iii) -  a, (iv) -  c

(B) (i) -  b, (ii) -  d, (iii) -  c, (iv) -  a

(C) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a

(D) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c

7 8 . ' ^ij<£)got <sugijOT)ijD<stf)iLJ<5

« l l@ U U @ ^ § ]L b  <!§1l_I—<9j6B)<Sj <̂SU(T)f$<SOT

Gr5rrffi<5 rEJffi(6f5i_6iyT Qurr0 ^§]<5 .

(i) SJSRY

(a) «£lljmjDUL|fDU 

<surr(Lpii <§fD<s5rrbfD

<9«_6lSllL|l_<si5T SfiU^lU GOJCTXSD 

GUfTUJUSWU ^ 0 6 Lin\£(Sj©JgJ •

(ii) SGSY

(b) ftiu  G sugdq) 6urrujuL j LDfopib- 

l̂<SOT55 ffL6lSl (3 <oUOT)Q) (ipeoijb 

[5«ITqfDrBJffi(olflQ) GqJ<S5)€D 

€UrrUJLlL|<5 «(o5)<SrT 

2_0 su n «^ l^ £ 5 0 Lb Gi5 rr<5<5 i£>

(iii) SGRY

(c) <5raDLp«SSSTf)OT £_6Mr(51J LDfDfpjlb
<sf<5§]6wtq_I j£l€5>e6«<@D<srr 

GLDLbu@^§|Lb Gnjrraastb

(iv) ICDC

(d) <£ILI 2_<£o£l<95 @(Lp<5«(G|5<5@ 

GUrBJ«̂l<S5<STfl6OT ̂ Lp€OLb, U055r 2_£©SI

6 fil0 u u ^  (5a5iT6ij«err :

(A) (i) -  d, (ii) - b ,  (iii) -  a, (iv) -  c

(B) (i) -  b, (ii) -  d, (iii) -  c, (iv) -  a

(C) (i) -  d, (ii) — c, (iii) — b, (iv) -  a

(D) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c
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Which of the following facts on Ganga 
Express Way is not true?

(A) Will connect Greater Noida to 
Ballia along the Ganga

(B) Construction work of the 
Express Way is in progress and 
70% of the work is completed

(C) The contract has been awarded 
to Jaypee Infratech Pvt. Ltd.

(D) The contract has been awarded 
under the Public Private 
Partnership Model

Out of the various phases of the 
transportation infrastructure project 
of Western Freeway, name the first 
phase of the project which is 
completed.
(A) Bandra .Worli Sea Link
(B) Worli Haji Ali Sea Link

(C) Bandra Versova Section
(D) Nariman Point-Haji Ali Section

• Which of the following have been 
announced as the state bird, state 
animal, state flower and state tree of 
Puducherry?
(A) Koel, Squirrel, Nagalingam and 

Vilvam respectively
(B) Cock, Rabbit, Lotus and Neem 

respectively
(C) Koel, Rabbit, Nagalingam and 

Neem respectively
(D) Cock, Squirrel, Lotus and 

Vilvam respectively

79. <sr£j<srr 6$<ss>i7<sl| <suy51 (Ganga Express 
Way) Q̂ rri_iTurre5T i5)<sffroj0 Lb
ai.fbp«ffi(6I5GiT 2_<SW6iDLDUJ€b€0U£5gjJ OT3jj?
(A) Qi5rruji_rr<ofil(o6l0 r5§j

urreiSlujrr<o5)Qj <5fiiS5)<5 
ffiewijGiu n-ijLDrra @a)(SOT«@ijb

(B) 6£l65)IJ6I| QJLj!j]llSl<S5T «LL(j!LDmsmj 
ucoofl Q̂ITLITJBgJ 
Q<5IT<5TOrir).0<5<̂lfD§J 70% G6U«S5)Q) 
(y)U}.i5§j<siS1ili_§j

(C) CgDiSl glOTTo°oUi7uQi_<K iSlswijGeuil
0S1l61Ql_i1-<50 6̂ uurB̂ ii)
Q<5rr@<5<5uuili_§j

(D) Qurrgj LDrbgyiJb <$6Bf)iLjrriT
<g«i.ili_rT«ror(S5)LD LorriilifluSleijT <iy) 
6̂ uu(5a5Lb <g-jT)uil®stT6fr§]

80. Q<su<sroi_iT6OT ô ufCosu (Western
Freeway)-©st Gun\g;@Qji7<5gj]
2_L_<5lll_(SiDlDUL|̂  1̂lL|_̂ OTT Lld)G<5Up 
J§l€5)60£6(6njdT, <£)lLl_<£<£1ctT (LpU).<5«UUL_l_
(Xp̂ 56b r§la)(S0uSlOTT Quuu it stottsst?
(A ) urTij^ijrr QsurriraS) <ki_60 @ ot>655tljlj

(B) QojmiraS) GUDirggl <sLeb
gle5)655TLJL|

(C) urTFB̂ijnr QeurirGGiurraiiT u@<£l
(D) F&iflijD6OT urruSl6iiTil-QiDrT̂ ]̂ siSl u@^l

81. ^̂ «<5€ffi5n_<ourbp€iT otgsxsu
iDrrrgleou ufDa&eu, oSl6orBJ@, ldsoit LDfDpib 
LDijLorrffi

(A ) (pcwpGuj @uS)6b,
i5rr<K©SlrRj<SLb LDrbpub ©S)d)<smh

(B) (ipsiDfDGuu G&su<so, (ipiLiQ), r̂ruDcwij
LDfDpii) Gsuldli

(C) (LpcwpGiu (SjuSleb, (ipujsb,
r5rr<se61rij<5ih LDfbpLb G<suLbi_|

(D) (LponpGuu Gffeueb, ĉ orcfleb, r̂rLDODij
LDppLD dSloXSULD
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82. Match the India Medal Winners of the 
London Olympic with the event in 
which they won and select the correct 
answer from the options given.

(i) Saina Nehwal

(a) Boxing

(ii) Gagan Narang

(b) Wrestling

(iii) Mary Kom

(c) Badminton

(iv) Yogeshwar Dutt

(d) Shooting

Options :

(A) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b

(B) (i) -  a, (ii) -  c, (iii) -  b, (iv) -  d

(C) (i) -  b, (ii) -  a, (iii) -  c, (iv) -  d

(D) (i) -  c, (ii) — d, (iii) — b, (iv )-a

83. Name the Kutchipudi dancer who 
started Kuchipudi Art Academy in 
Madras during 1963 and passed away 
recently.

(A) Nadaraja Ramakrishna
(B) Vempati Chinna Satyam
(C) Balasaraswathi
(D) K.J. Sarasa

82. @pj,£lujrr©&)d) Q ldi_ q) Q<suOTfD<ourr<£a)6rr
<a)OT5TL_OTT ŝSlLDLSla l̂Q) J$ffiLp<s£l<si).
Q<oU€OTfDmT<95GiT. OTOTUgjl I_6 «T, t£)6 OT6 U0 Lb

6fll0U U ^ Ĝ IT6L|dS©S)<o1TLJ UUJ65TU® <$<£1 

Ql_IIT0 <$<£6HLb

(i) ffrriLKSOTrrGrseuDQjrrsb

(a) 0<£gj£F ff6WT6B)L_

(ii) asm  rgijrEJS

(b) UDQ)U_l<!5<$Lb

(iii) GiDiflGffimJb

(c) umlu51sijri_6OT

(iv) GiLirrGsGi^aiiT^

(d) gjuurradsl 

*0^0)

oS]0U u£ Ĝ iTGLi<sGn-:

(A) (i) -  c, (ii) -  d, (iii) -  a, (iv ) -  b

(B) (i) -  a, (ii) -  c, (iii) -  b, (iv ) -  d

(C ) (i) -  b, (ii) -  a, (iii) -  c, (iv) -  d

(D) (i) -  c, (ii) -  d, (iii) -  b, (iv) -  a

83. 1 9 6 3 -^ L b  qj01_ld QffOTr<s5)€»mS)d)

@ff£)UL|l£)_ «=§JjlTL- ^<5m_u51

Q^m_r5J< l̂ujGiJ0Lb>

glfD([B̂ <oU0LDrr<SOT (SjS^ULjlq. J5l_6OT«

fBCSXSÔlflOTT QuiuQlJSOTSOT?
(A) i5i_ijnrgg i7rrLD̂0 €î 0SinTr
(B ) G€iJLbULllij.̂ ]65T65Ta:̂ lLlljb

(C ) urrso

(D) K. J. ffijffiT
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(D) None of the above

85. Which of the following is not true?

(A) The Primary Sector of Indian 
Economy Comprises of Industry, 
Manufacturing and Electricity

(B) The contribution of Secondary 
Sector of Indian Economy is 
about 28%

(C) The Tertiary sector of Indian 
Economy comprises of Business, 
Transport, Communication and 
Services

(D) Tertiary sector contributes 
maximum to the G.D.P.

84. LD«9j<S6TT Q<SjlT65)<9j<9j (s<5Fnluml̂ .<oi5T (LpOTTp
Qa5<sif)<surr65T rgl©D€0«GTT - ^̂ 1<ebu i51idul|

LDfbpub ^ ^ < 5  jglfpuLi a M ^ ijb ,

l51fDLJL| LDfDpii) @(S5)fD^
@(DULj qS)<£I<£LD LDfppih 0 0 )1DJ5<5 lSlfDUL|

©Sl^LD, 065)(D[5a5 oSl^lh
^<£]lU65><oU <̂ L_rEJ<£llU G<ffimlurT(5l«65)(oTI
2_€5>l_lLlgJ LSl(oi5TeU0«5T<oUrripSTTCT§]?

(A ) l i lp u q , @(DUM ©Slil^Lb ffrnirB^

LDffiffiiLQ^msna LDrrfT)fi)<5 G asm lu rr®

(B) Quiflgjii) 2_<5(B<5 LDffi«L_Qa5nr(S5)£5 

GarnLuiT©

. (C) LD.s«ilQ£5nr<s5)<s ufpfftiu

LDUQ)§ii#luj(Si5T G<5rrilunr(5i

(D) GuMbauSliu OT§jê uSld)€5)Q)

85. L5lOTQJ0€LlOTr<oUrbpGTT CTgJ QuDUlllLKobeO?

(A ) g)j5<$ujLj Qunr0enTr<gmj<$<£)6in-

(Lp^6ijT(SiDLDU U@̂ l.llSl<sb ^ L _ [E J< £ ) lU § j

Q̂ n-ySlpffrreno), 2 _rbu<$«£l UDfDpib 

uSIeOTffrrijLD ^dlujar

(B) gliB l̂uju Qurr0<smr<£m7̂ lOTT

@i7«nrri_mb u@̂ luSl65T urBJ«<sifluL| 
<5TfD<5@®DfDlU 28%

(C) @ ib<£Iililj Qurr0€TT̂ m7̂ <s5T
(ipeijTfDrTLb u@̂ luSl6b Gljsnifld), 
Gun^Guijjggjj, <s«6u<sb Q̂ m_iTL| 

LDfDpih G<F65>6U«6tt . <̂ <£Ilu®d<oU 
î_rii<£lujgi

(D) Qi£>rr££ S-GrrjBmL© a_f!)u^a5@

(ipdfrfDfTLb êrroSId)
ur5J«isifl<5̂ 1fD§i

84. Which of the following theories 
propose a three distinct stages of 
population theory consisting of high 
birth rate and high death rate, high 
birth rate and low death rate and 
finally low birth rate and low death 
rate?

(A) The theory of Demographic 
Transition

(B) The theory of Optimum 
Population

(C) Malthusian theory of Population
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86. A new version of its online trading 
software called National Exchange of 
Automatic Trading (NEAT) has been 
launched by one of the following 
agencies. Identify the agency.

(A) NSE

(B) BSE

(C) DOLLEX .

(D) CRISIL

87. Match the following Authors with the 
book they have written and choose the 
correct answer from the options.

(i) Ramachandra Guha

(a) The City of Joy

(ii) Nandan Nilekani
(b) Nine Lives

(iii) Dominique Lapierre
(c) Imagining India

(iv) William Dalrymple
(d) India after Gandhi

Options :

(A) (i) -  b, (ii) -  c, (iii) -  a, (iv) -  d

(B) (i) -  c, (ii) -  a, (iii) -  b, (iv) -  d

(C) (i) -  d, (ii) — c, (iii) -  a, (iv )-b

(D) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a
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86. fis&rcflssfl . (LpsDLDmssT oSliLirrumj
QiD6OTQurr0 sifl(sinr L|̂ 1iu • urrs&fl, 
<5rT6Bfliuiij<£) eurrecoflu uiflLDrrrbrDLb
[(National Exchange of Automatic 
Trading (NEAT)]
OT6inp<oiDj£<s<$uu@<SrDgj lS1ottgu0 ld

GHTjaj jflfpioUSOTdjfgrTQ) Q̂ tTI—filffiUUlll—gJ?

(A) NSE

(B) BSE

(C) DOLLEX

(D) CRISIL

87. t£]6OT0J0LD OT(Lp^lT(5rTIT«(S5)€IT ^QJIT<K<oiT 

CT(Lp^)uu q^<5r&jffi(GT5i_(sirr, iSIott<S)J0L£> 

oS )0U U <$ (3̂ iT6qffi<sff)€rru uuj€imj®£<£lu 
Q u r r 0 ^ s i j L b .

(i) ijrrmaFfFrŝ lij @̂ Q)rr

(a) 1̂ ĵ,o°oU ggrnij

(ii) f5(5̂ S5T ̂ 60(S«65fl

(b) aipm  a)€Ddi(ofo

(iii) LrTuSlssfla G<soi5]u_iit

(c) glinrr̂ lgcflrij g)6imq_iurr

(iv) ©S)d)flS)u_iib i_rr(sbiflihLSleb

(d) @0iT̂ .ujrr <̂ jjo°oUi_it

srnb̂ l

(A) (i) -  b, (ii) -  c, (iii) -  a, (iv) -  d

(B) (i) -  c, (ii) -  a, (iii) -  b, (iv) -  d

(C) (i) -  d, (ii) -  c, (iii) -  a, (iv) -  b

(D) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a
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Match the following and select the 
correct answer from the options.

(i) Stratosphere

(a) This layer reflects * 
radiowaves 
transmitted from the 
earth back to the , 
earth

(ii) Mesosphere

(b) This layer is above 
the troposphere

(iii) Ionosphere

(c) Hydrogen and Helium 
predominates in this, 
region

(iv) Exosphere

(d) Extends upto 
80 km and
temperature decreases 
with the height

Options :

(A) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

(B) (i) -  b, (ii) — d, (iii) -  a, (iv) -  c

(C) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a

(D) (i) -  b, (ii) -  d, (iii) -  c, (iv) -  a

88. lS]<o5r<5LI0Lb oSl0 UUS3 Gs3IT6L|<$Clf)d)
fflfllUrrOJT GlSlODI_68)U_I<9) G£ITI5Qfi5($l£g]U
QurT0^e^Lb.

(i) gtul-OijCoI_rTGfOos,oLSlujiir

(a) ^ © « 0  y>u51«0

*9J@|UL1UUL-I_
Giji^Giurr ^ewco^ajerr 

^)0ihu6ijih y,u5)<$0 .

(ii) L5G<srurTGf0oooiS]ujiT

(b) @J5<5 ^ © « 0  
î (3ijrr(3urr<ofo 

o°.i51iu0«0 

GuD̂ jSiTSTTgJ

(iii) ^iu<3®mr<sro 0°ci51ujit

(c) U0^1o51d)
<S5)p)lll7ggOT)JLb,

QJ§€61aJ(Lpljb

snwruu©«£lrr)§j

(iv) CT<5GGn)rT€fUo°oiiliuiT

(d) g i i5 ^ ^ )@ « @ 8 0  £I;l8

CU€5)IJ
g lii j0  S-uuijib

Q(SULJÛ C5)€l) ' 

0€iorD l̂rD§]

qS10u u ^  G^iTs^asTT:

(A) (i) -  c, (ii) -  a, (iii) -  d, (iv) -  b

(B) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c

(C) (i) -  d, (ii) -  c, (iii) -  b, (iv) -  a

(D) (i) -  b,. (ii) -  d, (iii) -  c, (iv ) -  a
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89. Which of the following is not true of 
Solar Eclipse?
(A) . It always occurs on a New Moon

Day
(B) During the final moment 

“Diamond Ring”-formation occurs
(C) It occurs when the Earth comes 

between the Sun and the Moon

(D) Looking the Sun directly will 
damage the retina of the eye

89. (SjlfllU IJ Uff)(fjllLI LSleffT6U0 L£)
Q<?lLJj£l<SSClf)€b OTgd QuDULJLU6i)60?
(A) glgi OTuQurr(Lpgj]Lb 

<e£ I cttmi
(B) <5<S5)l_̂ l<5<5L_l_̂ eb “CSXSUIJ

®J65)6mLl” 2 _ 0 €Urr<5 <5 Lb i f l f f i L p . ^ l n j g j

(C) @rfliu|p<950ii>1 
@©di_uS1q) y,u51 oj0 ih(3urr§i
(S1« L p ^ l f D § )

(D) @ifliLJS5)0rr Ĝ iji£|.ujrr<Ku urriT r̂rsb,
<SfcW655fl<sirr oS)y5)£<£l65)gr 
urr^lffiffiuu^^lfDg]

90. Match the following and select the 
correct answer from the options given.

(i) Mumbai Port
(a) It is a tidal port and 

requires constant 
dredging

(ii) Kandla Port
(b) It is a natural harbour 

and is the biggest in 
the country

(iii) Kolkata Port
(c) It is the deepest 

landlocked and 
protected port

(iv) Visakapatnam Port
(d) The first port 

developed soon after 
the independence

Options :
(A) (i) -  b, (ii) -  d, (iii) -  c, (iv) -  a
(B) (i) -  c, (ii) -  d, (iii) -  a, (iv) -  b
(C) (i) -  b, (ii) -  d, (iii) -  a, (iv) -  c
(D) (i) -  d, (ii) -  b, (iii) -  c, (iv) -  a

90. Q<5nr©«<5uuilL_ ®S)0uu<5 Gajiio^siflQ) 
@ 0J5§! fflfltunw 6fil65)l_65)liJ<5 
G65m5Q<S5($!<$gJU QuiT0<5<!56L|Lb
( i )  • (LpLDSWU §|6S>fD(y)Slb

(a) Ggu(S5)60 <grrf)fD 
g)fD«<5<£ §J€iS)fD(ip<5Lb,
@<$rb@ Q^m_iTi5§j 
LDewrQjrT0̂ <sb 

• <̂ <oU<£)iuLb
(ii) «rr€ijril6onr §|€5)fD(ip«g;Lb

(b) S § l$ .© ® W {b «> * £
§]65>fD(ip«L£>.
ismli^GcoGiu uSl<5u 
Quifluj

(iii) Q«5fT6b<5^rr §j€5)jP(p<5Lb
• (c) g l§ j uSl<5 ^LpmiTOTr

jSl6D<£<5rTQ) (g,LpUUL_L_,
urr§jffirrffiffiuuiLi_
§|65)fD(yDffiLb

(iv) §|S5)iT)(y)<5ii»
(d) a*$i5$i7<£^lfj)@u lSIgot

&_i_siyriij.iurr« eusmi*#] 
Quibp <ap<$€b 
§ia)jD(ip«ijb 

©Sl0uu^ G^iT6qa6TT:

(A) (i) -  b, (ii) -  d, (iii) -  c, (iv ) -  a
(B) (i) -  c, (ii) -  d, (iii) -  a, (iv ) -  b

(C) (i) — b, (ii) — d, ( i i i ) - a ,  ( i v ) - c

(D) (i) -  d, (ii) -  b, (iii) -  c, (iv) -  a
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Name the captain of Kolkatta Knight 
Riders who won the 2012 Indian 
Premier League.

(A) Virender Shewag

(B) Gautam Gambhir

(C) Mahendra Singh Dhoni

(D) Virat Kohli

Name the city where the 10th Pravasi 
Bharatiya Divas was celebrated on 
9th January 2012.

(A) Hyderabad

(B) Jaipur

(C) New Delhi

(D) Lucknow

Name the 14 yr. old Indian child 
actress best known for her Television 
advertisement and films who died in 
the plane crash on 14th May 2012.

(A) Geeta Sachdev

(B) Taruni Sachdev

(C) Arora Sachdev

(D) Latha Sachdev

91. 2012 - @<sin-ii}_tiJ6isT iSIMIiuit 6&5-g)
QciJOTTfD Q«rrQ)<5̂ nr ©onjL- qdiji_itgtiSIcot
G«ffiui_<sirr Quujit ctottsst?

(A )  ©SGi7(5^iT(3Q^6ijrr«

(B) Qaserr̂ LD <5rrii)LSiT

(C ) ldO gudjb̂ ij <̂ rej

(D) oSlgrmlGsn-eiSl

92. ÔTrcuifl 9, 2012
Q<5rT6rori_m_uuilL_ lOeugjj lSIijgu rr<snSl 
urri7«§uj <£1 gusto r5«[T<£̂ )€b
Q<5rr«555Tl_rTI_UULll_§J?

(A )  <S5)p)£5i7nrunr^

(B) Q̂ iLiLjy,iT

(C )  L|g]Ql_Q)6lS)

(D) €0<5G(Sotit

93. ÎswijuuLr&jffiGtfl̂ jijb, Q̂ ms5)Q)««rril<#]
©̂ crrLbuiju UL-r&jfficiflô ijb njiq.£gjju 
qsjLpQufTin), G ld 1 4 , 2 0 1 2 -6 0  qS)idft€5t 

®Slu^<£lsb @ p r s § j  Gurreffr 1 4  euuu^rrsOT 

glfB l̂iua Quijuit

(A )  <&£rr &&Gp<su

(B) f̂T0<S55fl <g£G<£6U

(C ) ^Gijrrijrr

(D) €0<9jfT
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94. Which of the following statements are
true with regard to Rashtriya
Swasthya Bhima Yojna
(i) All employees of Public Sector

and Private Sector
establishments get these 
benefits

(ii) It is a Health Insurance Scheme

(iii) This scheme is for the benefit of 
unorganised workers

(iv) In India 7% of workers will get 
benefitted

Options :
(A) (ii), (iii) and (iv)
(B) (i), (iii) and (iv)
(C) (ii) and (iii)
(D) (i) and (iv)

95. Which of the following are true of the
Keshava Nand Bharati case-Select
the correct answer from the options
given?

(i) Upheld the 24th Amendment of 
the constitution

(ii) Gave back the Parliament the
right to amend any part of the 
constitution including
fundamental rights

(iii) Held that the parliament does 
not have any right to amend the 
fundamental rights

(iv) Held that the parliament does 
not have the right to amend the 
basic structure of the 
constitution

Options :
(A) (i), (iii) and (iv)
(B) (i), (ii) and (iv)
(C) (ii), (iii) and (iv)
(D) (i), (ii) and (iii)

94. ijrrô L-ifuj cfuQjrrcfô iij LSiDrr
(Sujrr̂ GOTd-GflQLju QurTp<£<$ iSl6i5T<au0ib

Qldujilhtott§ j ct§ j?
(i) 6̂5)€5T<5§| UU6rflffi _HIT LDfbgULD

lSIodijGJo j l . Qffffii—rnT j$pojarr&j<s6n- 

^̂ rrujr&j«siDCfT Qup^lfpgj

(ii) 9 0  ^Gijrr^uj^rri^n-OTT 
@ 6OT€i$y,i76isT<sn) ^IiIlld-

(iii) rglijfSjSijLDfbr) Q̂ rTL̂ 6orr(oiflffi(€r5« @
@«5<£lllL_Lb igcbso ,̂^mu^65)^u
Qurbp££CT« <9«.î lu§ i

(iy) @j5̂ 1iLJn-6fi)6b 7% Q̂ rrL̂ l60iT6ifl<5̂ Tr
^ < $ r r u _ i L b  Q u p ^ l p r r i T < 5 6 f T  

0Sl0 uu^ Ĝ iT6ijffiaT:
(A) (ii), (iii) mrbpib (iv)
(B) (i), (iii) LDppih (iv)
(C) (ii) LDrbpih (iii)
(D) (i) LDfbpib (iv)

95. n&i5<$ umj$ suLpa565)«u Q urrp^
lS)6OTSU0QJ6ffrQJ{bp6iT QLDlUlLirTSOTg] OT§]? 

l5165TGU01£) 6^10 U U ^  Ga>IT&|<5Glf)6b @ 0 f 5 § J

G<$iTf5Q<$@£gjl OT(Lpa56qib.
(i) ^ ij<£)iij6D65)ldljlS)€5t 24QJS

<£fT̂ <£)0<5<5<£65)<$ r§l65)60 rilp^§J0J§J
(ii) 1̂1}.LJU65)1_ 2_rfl65)lB«05)6mL)li)

ÎĴ IlLld) 6̂6)LDLJlSl63T <5TI5̂5 
urr<5<$65)£iL]ii) <?iT̂ l0 ^a5
Urri7rr(6I5LD6i5Tr)^f!)@ 2_lfl65)LD65)lU<$ 
^)0 Lbu ^6lfl^60

(iii) unrijrT(6r5ijDdjTp^fi)@, «̂ jii).uu65)i_

«^)65)LD«@li) CT̂ jjSj 2_rfl65)LDlL|Lb 
@6065)60

(iv) ^  IJ$UJ 0 )^ 6 5 ) LDUL^OJT^ ll)_UU 65) L_ 
^65)LDU65)U LDlTipî l 
^65)LDUU^fT)«rr6i5T OTnjflj 2_rfl<Stf)LDU_|Lb 
Um7fT(CT51J36OTp^rT)@ @0)65)60 

€lSl0UÛ (36BIT6̂ «OT :
(A) (i), (iii) lbjb©i Lb (iv)
(B) (i), (ii) LDjbpib (iv)
(C) (ii), (iii) iDfbpLb (iv)
(D) (i), (ii) iDtbpib (iii)
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Match the following words with their
exact meaning and select the correct
answer from the options given.

(i) Curious

(a) The most natural 
term for something 
that is not expected 
or is hard to 
understand or explain

(ii) Strange

(b) Denotes a stronger 
sense of puzzlement

(iii) Odd

(c) Suggest that one 
finds it not only 
strange or puzzling 
but also interesting

Options :

(A) (i) -  b, (ii) -  c, (iii) -  a

(B) (i) -  c, (ii) -  a, (iii) -  b

(C) (i) -  a, (ii) -  b, (iii) -  c

(D) (i) -  c, (ii) -  b, (iii) -  a

9 6 .  iS165T6U0ld Q<sFrrfpffi(ct5 «K(8j<5 ffiflujfran-

Qurr0 6 OGTT Q«rr@<5 « u u i l i _  ®S)0 uu<$

G^iTeq<5GiflQ) @ 0 |5§J

Qunr0 <$£56^ii>.

(i) Curious

(a) The most natural 
term for something 
that is not expected 
or is hard to 
understand or 
explain

(ii) Strange

(b) Denotes a stronger 
sense of puzzlement

(iii) Odd

(c) Suggest that one 
finds it not only 
strange or puzzling 
but also interesting

©&I0 UUS) Ga5iT6q«€TT:

(A) (i) -  b, (ii) -  c, (iii) -  a

(B) (i) -  c, (ii) -  a, (iii) -  b

(C) (i) -  a, (ii) — b, (iii) — c

(D) (i) -  c, (ii) -  b, (iii) -  a

43 [XYZ]



97. Find out the word which is an odd one 97. Qsn©«ffiuuL©<srr<sTr QffrnpffiGrflOTr
out from the following Q̂ rr@̂ )uSlQ) QfffrcbsSlsjDOTr

(A) picturesque

(B) attractive

(C) prosaic

(D) charming

Find out the mis-spelt word from the 
following:

98. (A) Gratitude

(B) Mattress

(C) Hexogram

(D) Interpret

(A) picturesque

(B) attractive

(C) prosaic

(D) charming

OT(Lp<£§j|Lj l5l65)Lp 2_6TT6tT Q# [70)63)60-95 
<956TOr@ LSI Uj.<5 « 6 4  LD.

\

98. (A) Gratitude

(B) Mattress

(C) Hexogram

(D) Interpret

99. (A) Paradice 99. (A) Paradice

’ (B) Decorate (B) Decorate

(C) Fragrance (C) Fragrance

(D) Cucumber CD) Cucumber

100. (i) Immutable 100. (i) Immutable
(a) Orderly (a) Orderly

(ii) Haphazard (ii) Haphazard
(b) Direct (b) Direct

(iii) Evasive (iii) Evasive
(c) Changeable (c) Changeable

Options : 6$0UU<!5 C<5IT6Lj<S6TT :
(A) (i) -  a, (ii) -  c, (iii) -  b (A) (i) -  a, (ii) -  c, (iii) -  b
(B) ( i ) -c , (ii) -  a, (iii) -  b (B) (i) -  c, (ii) -  a, (iii) -  b
(C) ( i )-b , (ii) — c, (iii) -  a (C) (i) -  b, (ii) -  c, (iii) -  a
(D) (i) -  b, (ii) -  a, (iii) -  c CD) (i) -  b, (ii) -  a, (iii) -  c
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